
The City of Winnipeg
RFP No. 1049-2016

Appendix 1
1 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

038-005011-0002 1 10 3 3 EA FS TD 300A 600VAC W/IND 181X54
038-006009-0001 1 3 18 18 EA FS VFA 1250A 650V 2.37X1.5X
04-22041-02 1 1 10 10 EA FUSE 2A 600VAC
04-22043-02 1 6 10 10 EA FUSE 2A 500VDC
04-22043-05 1 2 10 10 EA FUSE 5A 500VDC/600VAC
04-22056-02 1 8 10 10 EA FUSE 2A 500V SLOW BLOW
04-22153 1 7 10 10 EA FUSE 3A 600V FNQ-R-3 BUSSMAN
04-23095 1 16 10 10 EA FILTER AIR 19.625X24.625X.875

042-000041-0000 1 39 3 3 EA SW MCRO SPDT LONG LVR 5A 250V
6739846 1 32 1 1 EA BOARD ICOZ 2

29471022FA 2 HE1,HE11,HE3,HE8 4 4 EA LED R 3MCD/10MA D3

29471022FC 2
HE10,HE12,HE13,HE14,HE4,
HE5,HE6,HE7,HE9 9 9 EA LED Y 1.6MCD/10MA D3

29714132DC 2 XM253 1 1 EA
CONN IDC 2.54 MALE AU30 10 2X5 THD 
PA

29715760FA 2 XM252 1 1 EA
STRAIGHT HE501BM 10D POINT FIXED 
CONNECTOR

6740471 2 1 1 EA ICOZ2 STRAPPING BOARD
6739845 2 AI1 1 1 EA ICOZ2 BOARD

885-3705 2 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
29471022FB 2 HE2 1 1 EA LED G 3MCD/10MA D3
29714132FC 2 XM251 1 1 EA C.IDC M 26 X HE10

72-130051-00 1 19 1 1 EA PCA ACPZ XFMR ACQUI MULTI-MOD
72-130055-01 1 21 1 1 EA PCA ARUZ_7000
002-000010-0376 2 2 2 2 EA RES,MF,80.6K,1/4W,300V,1%
107-000020-0001 2 3 1 1 EA LBL,BLANK,WHITE,1.0X5.0
72-130055-00 2 1 1 1 EA PCA ARUZ CHARGER ACQUISITION
059-000001-0000 3 52 15 15 EA SPADE PCB STR .280X.110 TIN
62-130055-00 3 1 1 1 EA PCB, ARUZ
002-000010-0281 3 21 2 2 EA RES,MF,8.25K,1/4W,300V,1%
002-000010-0297 3 15 1 1 EA RES,MF,12.1K,1/4W,300V,1%
002-000010-0346 3 22 4 4 EA RES,MF,39.2K,1/4W,300V,1%
002-000010-0354 3 23 4 4 EA RES,MF,47.5K,1/4W,300V,1%
002-000010-0385 3 24 2 2 EA RES,MF,100K,1/4W,300V,1%
002-000010-0450 3 25 10 10 EA RES,MF,475K,1/4W,300V,1%
003-000003-0163 3 50 2 2 EA RES,MF,499,1/2W,350V,1%
003-000022-0000 3 5 10 10 EA RES,MF,0 OHM,JUMPER
012-000058-0000 3 17 2 2 EA CAP,MP,.1?F,63VDC,20%
012-000059-0000 3 18 5 5 EA CAP MP .47UF 63VDC 20%
012-000061-0000 3 19 1 1 EA CAP,MP,1?F,63VDC,10%
012-000064-0000 3 26 4 4 EA CAP,MPP,330PF,100VDC,1%
014-000032-0000 3 27 3 3 EA CAP,EL,4.7?F,50VDC,39MA,20%
015-001015-0000 3 38 3 3 EA CAP X7R .01UF 100VDC 10%
015-001016-0000 3 39 22 22 EA CAP,X7R,.047?F,100VDC,10%
015-001018-0000 3 36 6 6 EA CAP,X7R,.001?F,50VDC,10%
015-001020-0000 3 35 1 1 EA CAP,COG,470PF,100VDC,10%
015-001021-0000 3 55 6 6 EA CAP,Y,4700PF,400VAC,20%
015-001022-0000 3 34 4 4 EA CAP,NPO,100PF,50V,10%
015-001023-0000 3 37 2 2 EA CAP,X7R,2200PF,50V,10%

APPENDIX 1

APC - Schneider Electric Level 3 Spare Material Kit
Item # WE7TMM - SPL3

Cross Ref # 87-134230-00



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
2 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

020-000036-0000 3 54 1 1 EA IC,PWM,DUALOUT,60V,200MA,16P
020-000038-0000 3 44 1 1 EA IC,REG,ADJ,-1.2-37V,1.5A,TO221
020-000041-0000 3 43 1 1 EA IC,REG,ADJ,1.2-37V,1.5A,TO-221
020-000050-0000 3 31 4 4 EA IC,OPAMP,?5?20,8P
020-000058-0000 3 42 4 4 EA IC,OPTOCPLR,1.8V,25MA,8P
020-000060-0000 3 45 2 2 EA IC,VREF,SGLSPLY,10V,8P
021-000008-0000 3 30 4 4 EA IC,VLT-FRQ CNVT,?15V,12MA,14P
025-000001-0000 3 41 4 4 EA DIO SW 75V 150MA DO-35
025-000038-0000 3 40 2 2 EA DIO,RCT,100V,1.5A,DO-41
027-000045-0000 3 28 2 2 EA XSTR,NPN,100V,6A,TO-220
027-010013-0000 3 29 1 1 EA XSTR,ARRAY,50V,.5MA,16P
038-001003-0000 3 2 8 8 EA CLIP FUSE .406 SPRNG BRNZ
038-006004-0001 3 4 4 4 EA FS FA 2A 600VAC .41X1.5
04-77293 3 3 3 3 EA XFMR CTRL 480/6V PCB MT
045-000015-0000 3 33 1 1 EA TRANS,PLS,1A,1:1:1
051-000019-0000 3 46 1 1 EA CONN HDR 26P 2RW W/EJCT GLD
051-000028-0000 3 32 1 1 EA CONN,HDR,MT/LOK,9P,TIN
051-000156-0002 3 53 1 1 EA CONN,HDR,4P,STR,.156,TIN,W/LK
051-000156-0004 3 47 1 1 EA CONN HDR 6P STR .156 TIN W/LK
051-000156-0008 3 48 1 1 EA CONN HDR 10P STR .156 TIN W/LK
057-000001-0002 3 49 6 6 EA CNTCT PIN .093X.437 NKL
000-000010-0000 3 16 3 3 EA RES,WW,3.57,360V,5W,1%
002-000010-0000 3 6 1 1 EA RES,MF,10.0,1/4W,300V,1%
002-000010-0033 3 7 2 2 EA RES,MF,22.1,1/4W,300V,1%
002-000010-0096 3 8 4 4 EA RES,MF,100,1/4W,300V,1%
002-000010-0130 3 9 5 5 EA RES MF 221 1/4W 300V 1%
002-000010-0147 3 10 2 2 EA RES,MF,332,1/4W,300V,1%
002-000010-0193 3 11 6 6 EA RES,MF,1K,1/4W,300V,1%
002-000010-0218 3 20 2 2 EA RES,MF,1.82K,1/4W,300V,1%
002-000010-0226 3 12 4 4 EA RES,MF,2.21K,1/4W,300V,1%
002-000010-0250 3 13 4 4 EA RES,MF,3.92K,1/4W,300V,1%
002-000010-0258 3 14 4 4 EA RES,MF,4.75K,1/4W,300V,1%
72-132297-00 1 11 1 1 EA PCA MOD MG ALEZ
003-000003-0483 2 2 8 8 EA RES MF 95.3 1/2W 350V 1%
0P2970 2 1 1 EA PCB ASSEMBLY EPS 6739904 ALEZ

6739853 3 T1 1 1 EA T1 1/20 TRANSFORMER

29225300AA 3

R1,R2,R3,R4,R46,R51,R54,R5
7,R58,R59,R6,R63,R73,R74,R
75,R76,R80,R81,R82,R83 20 20 EA RES MF AX 1ohm 1% 50ppm 0.5W

29225302HT 3 R22 1 1 EA RES MF AX 681ohm 1% 50ppm 0.5W

29225303HT 3 R23,R26 2 2 EA RES MF AX 6.81kohm 1% 50ppm 0.5W

29225304DY 3 R117 1 1 EA RES MF AX 27.4kohm 1% 50ppm 0.5W
29229310GE 3 R61 1 1 EA RES MF AX 4.7ohm 5% 300ppm 2W
29253011GH 3 V1,V2,V3,V4 4 4 EA VAR (VOLT-AMPERE)
30463001SA 3 VT15 1 1 EA MOSP 45V 0,17A 14R TO92
30463001TE 3 VT16,VT18,VT19,VT2 4 4 EA MOSN 60V 0.3A 5R TO92
29430915FB 3 VZ1,VZ3,VZ4 3 3 EA DZEN 8V2 0W5 6% DO35
29430925FD 3 VZ10,VZ2,VZ5,VZ6 4 4 EA DZEN 10V 0W5 6% DO35
29430933FE 3 VZ16 1 1 EA DZEN 12V 0W5 6% DO35
29430939FH 3 VZ13 1 1 EA DZEN 15V 0W5 6% DO35

30631431BP 3

NR10,NR11,NR12,NR13,NR14
,NR15,NR3,NR4,NR5,NR6,NR
7 11 11 EA REF 2.5-36V 2.2% TO92



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
3 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

30324044DA 3 C16,C17,C5,C6 4 4 EA CAP Y2 MKT RDL 22nF 20% 999VDC

30361923AA 3

C1,C26,C27,C28,C32,C34,C35
,C36,C37,C38,C39,C4,C40,C4
3,C47,C48,C53,C54,C60,C9 20 20 EA CAL R7.6 85C 1000UF 35V

29225301GF 3 R109,R17,R65,R68 4 4 EA RES MF AX 47.5OHM 1% 50PPM 0.5W

30223313AA 3
R123,R124,R130,R136,R21,R
40,R42,R44,R97 9 9 EA R 1K 1/4W 0.5%

30223313BN 3 R103,R132,R36 3 3 EA 1K5 1 4W 0,5% RESIST
30223313CG 3 R15,R16,R39 3 3 EA 1K82 1 4W 0,5% RESIST.METAL.
30223313HT 3 R48 1 1 EA R MOX 6K81 +/-0. 5% 0.25W

420-0507-Z 3 L6 1 1 EA
INDUCTOR 82.5UH 10A 
35.4X37.4X23.4MM LF

360-3842-Z 3 NR1,NR2 2 2 EA
IC PWM CONTROLLER UC3842 DIP8 
ROHS

862-0010 3 NR8 1 1 EA RIVSCREW 3.5 X 6.1MM LENGTH
885-0037 3 1 1 EA LABEL PCB BAR CODE ROHS

862-0012 3
VD13,VD15,VD5,VT1,VT12VD
18,VT9 VT10 6 6 EA RIVSCREW 3.5 X 7.1MM LENGTH

862-0009 3 VT11,VT13 2 2 EA RIVSCREW 3.5 X 10.1MM LENGTH
811-0302A 3 VD18,VT10,VT12,VT9 4 4 EA WASHER FLAT M3 DIN433 ROHS
885-3705A 3 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
30223314HT 3 R140,R47 2 2 EA 68,1K 0,5% W25
30223315BN 3 R153 1 1 EA 150K 1 4W 0,5% RESIST.METAL.
30223315DB 3 R101,R104,R107,R155 4 4 EA 221K 1 4W 0,5% RESIST.METAL.

916798 3 1 1 EA RADIATOR
6739843 3 TV1 1 1 EA TRANSFORMER

29524132HP 3 DI3 1 1 EA HC NAND4 2I TRIG DIP14
29837130AA 3 L1 1 1 EA 470UH INDUCTION COIL

30223312AA 3 R37 1 1 EA 0.25W +/-0.5% 100UMETAL RESISITOR
30223312ES 3 R27 1 1 EA 0.25W 0.5% 332U RESISTOR
30223312HT 3 R25,R98 2 2 EA 681U 1 4W 0,5% RESIST
29472047DA 3 VP1,VP2,VP4,VP5 4 4 EA OPTOTRA DIP6
29229310DA 3 R60 1 1 EA RES MF AX 2.2ohm 5% 300ppm 2W
29231100AA 3 R38 1 1 EA RES WIREWOUND 1ohm 5% 3W
29235100ER 3 R29,R30 2 2 EA RES WIREWOUND 3.3ohm 5% 7W
29332173DA 3 C13,C75 2 2 EA CX7R R5 2.2NF 20% 50V

29225305DY 3 R86 1 1 EA RES MF AX 274kohm 1% 50ppm 0.5W
30223314AA 3 R102,R99 2 2 EA R 10K 1/4W 0,5%
30223314AS 3 R151 1 1 EA 12,1K 0,5% W25
30223314FL 3 R133 1 1 EA 39K2 1 4W 0,5% RESIST.METAL.
30223314GF 3 R106,R121,R144,R53 4 4 EA 47,5K 1 4W 0,5 RESIST.METAL.

131-0000030483A00 3 R113,R114,R71,R72 8 8 EA RES MF AX 95.3ohm 1% 150ppm 0.5W

29321126AA 3
C15,C41,C44,C49,C51,C55,C6
6,C68,C71,C73,C78 11 11 EA CPM R5 1UF 20% 50V

29225300DB 3 R5,R70 2 2 EA RES MF AX 2.21ohm 1% 50ppm 0.5W
6739817 3 AI1 1 1 EA ALEZ PCB

132-1000 3 R43,R62 2 2 EA RES WIREWOUND 100ohm 5% 4W

851-0228-Z 3 1,2 2 2 EA HTSK-AL T0220/T0247 BLK 35X50.8MM



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
4 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

341-0141-Z 3 VD15 1 1 EA DIODE _ 200V 15A TO220

29225305AS 3 R160,R77,R78 3 3 EA RES MF AX 121kohm 1% 50ppm 0.5W

29225305DB 3 R125,R163 2 2 EA RES MF AX 221kohm 1% 50ppm 0.5W
30837080EG 3 L3,L4 2 2 EA SELF 3UH 2A 0R09 AXIALE
30837080TE 3 L10,L5,L7,L8,L9 5 5 EA 6MH INDUCTION COIL
31837150AF 3 L2 1 1 EA SELF D' ANTIPARASITAGE
1DDE000160 3 VD23 1 1 EA DRED 200V 1A 35NS DO41
340-0122-Z 3 VD16,VD17 2 2 EA DIODE 0 0V 3A DO201AD
330-0091-Z 3 VD11 1 1 EA DIODE 0 0V 1.5A DO15
202-5331-Z 3 C33,C46 2 2 EA CAP AL SNAP 10 330uF 450V
310-0079-Z 3 VT4,VT5 2 2 EA TRANSISTOR PNP 100V 6A TO220

360-0555-Z 3 DI1,DI2 2 2 EA
SPECIAL FUNCT - ANALOG TMR 10.25V 
0C 70

29714718ND 3 XM012 1 1 EA HE12 MALE COUDE 64 POINTS

135-5621-Z 3 R122,R126,R129,R56 4 4 EA
RES THN FLM AX 5.62kohm 0.5% 25ppm 
0.6W

135-8251-Z 3 R105,R152 2 2 EA
RES THN FLM AX 8.25kohm 0.5% 25ppm 
0.6W

135-3321-Z 3 R141 1 1 EA
RES THN FLM AX 3.32kohm 0.5% 25ppm 
0.6W

29225301AA 3 R10,R11,R110,R66,R7,R9 6 6 EA RES MF AX 10ohm 1% 50ppm 0.5W

31233114GE 3 R64,R92 2 2 EA
RES MTL OXIDE AX 47kohm 5% 400ppm 
4W

29225304AA 3 R128,R138,R156,R157,R158 5 5 EA RES MF AX 10kohm 1% 50ppm 0.5W

29225305GF 3 R164,R84,R91 3 3 EA RES MF AX 475kohm 1% 50ppm 0.5W

29225302AA 3
R111,R112,R14,R165,R32,R3
5,R67,R69 8 8 EA RES MF AX 100ohm 1% 50ppm 0.5W

30123160AF 3
R29,R30,R38,R43,R60,R61,R6
2,R64,R92 18 18 EA ENTRE D=2 H=10

29631543AA 3 NR8,NR9 2 2 EA REG+15V 1A TO220
30453101WJ 3 VT20,VT6 2 2 EA PNP 80V 1A TO126
340-0125-Z 3 VD13,VD5 2 2 EA DIODE 0 45V 16A TO220

851-0261 3 U1,U2,U3,U4 4 4 EA
HT SNK EXTRUDED ALMGSI 0C/W H 
50.8mm

325-1002-Z-003 3 VT11,VT13 2 2 EA MOSFET N 1,000V 2ohm 5A TO247 3

325-0156-Z-001 3 VT1,VT10,VT9 3 3 EA
MOSFET N 100V 0.09ohm 17A TO220AB 
3

310-0026-Z-001 3 VT12 1 1 EA TRANSISTOR NPN 100V 6A TO220

29225303DB 3 R137,R142,R143,R41 4 4 EA RES MF AX 2.21kohm 1% 50ppm 0.5W

29225303GF 3 R18,R20,R24,R31 4 4 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

29225304DB 3 R134 1 1 EA RES MF AX 22.1kohm 1% 50ppm 0.5W

29225306DB 3 R159 1 1 EA RES MF AX 2.21Mohm 1% 50ppm 0.5W
30362378GE 3 C58 1 1 EA CAL R5 85C 470UF 50V
29321125AA 3 C22 1 1 EA CPM R5 100NF 20% 50V
29321125DA 3 C81,C82 2 2 EA CPM R5 220NF 20% 50V

234-7102-Z 3 C23,C25 2 2 EA CAP FILM MKP RDL 1NF 10% 1,600VDC



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
5 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

135-4751-Z 3 R139,R146,R147,R150,R154 5 5 EA
RES THN FLM AX 4.75kohm 0.5% 25ppm 
0.6W

135-3322-Z 3 R148 1 1 EA
RES THN FLM AX 33.2kohm 0.5% 25ppm 
0.6W

135-2743-Z 3 R145 1 1 EA
RES THN FLM AX 274kohm 0.5% 25ppm 
0.6W

29524074HP 3 D14 1 1 EA HC FLIPOPD2 DIP14

29430902FB 3
VZ11,VZ12,VZ15,VZ17,VZ18,
VZ19,VZ20,VZ7,VZ8 9 9 EA DZEN 3V3 0W5 6% DO35

31400000QA 3 2 2 EA DTH TO220 14/W H25.4X35
31434101BN 3 VZ14,VZ9 2 2 EA DZEN 15V 1W3 5% DO41
31415252CQ 3 VD18 1 1 EA DIODE ULTRAFAST 200V 8A TBD
30324043GE 3 C3 1 1 EA CPM R10 Y2 4.7NF 250V
30324056AA 3 C2,C7 2 2 EA CAP X2 MKT RDL 1uF 20% 560VDC

30415113BA 3
VD1,VD2,VD3,VD4,VD6,VD7,
VD8,VD9 8 8 EA DIODE 0 0V 3A DO201AD

29225302DB 3 R12,R28,R45,R55,R8,R93 6 6 EA RES MF AX 221ohm 1% 50ppm 0.5W

29225302GF 3
R118,R127,R131,R33,R49,R5
2,R88,R89,R9,R90,R94,R95 12 12 EA RES MF AX 475ohm 1% 50ppm 0.5W

29225303ES 3 R119,R34,R50 3 3 EA RES MF AX 3.32kohm 1% 50ppm 0.5W
30362378AA 3 C12,C18,C57,C59,C62 5 5 EA CAL R5 85C 100UF 50V
29332174DA 3 C30,C31 2 2 EA CX7R R5 22NF 20% 50V

29225305ES 3 R161,R85 2 2 EA RES MF AX 332kohm 1% 50ppm 0.5W

29225304GF 3 R120 1 1 EA RES MF AX 47.5kohm 1% 50ppm 0.5W
29421402EM 3 VD10,VD22 2 2 EA DSIG 75V 0.2A 4NS DO35
29653393EP 3 NA1,NA2,NA3 3 3 EA CMP2 VIO5MV MS DIP8
30714405BE 3 XM1 1 1 EA C.396 M 10 Y SN DT VR

29225303AA 3
R108,R115,R116,R13,R135,R
162,R19 7 7 EA RES MF AX 1kohm 1% 50ppm 0.5W

29332174AA 3 C10,C76,C79,C8,C80 5 5 EA CX7R R5 10NF 20% 50V

29332174GE 3

C11,C19,C21,C29,C42,C45,C5
0,C52,C56,C61,C63,C64,C67,
C69,C70,C72,C74,C77,C83 19 19 EA CX7R R5 47NF 20% 50V

30443102WJ 3 VT21,VT7 2 2 EA NPN 80V 1A TO126
30413002RM 3 VD20,VD21 2 2 EA DRED 600V 1A NGP DO41
29453025TE 3 VT14,VT3,VT8 3 3 EA PNP 60V 0.6A TO92
29443014RM 3 VT17 1 1 EA NPN 40V 0.6A TO92
29332173AA 3 C100,C65 2 2 EA CX7R R5 1NF 20% 50V
29332173GE 3 C14,C20,C24 3 3 EA CX7R R5 4.7NF 20% 50V
30223315GF 3 R100,R79,R87 3 3 EA R 475K 1/4W 0,5%
30223314DB 3 R149 1 1 EA R 22K1 1/4W 0,5%
340-0138-Z 3 VD12,VD14,VD19 3 3 EA DIODE 0 600V 4A DO201AD
72-134222-00 1 34 1 1 EA CARD CAGE ASSY. EPS7000

34004770 2 6 1 1 EA PCA MG GTCZ_7000
018-000007-0000 3 2 3 3 EA IC,EEPROM,UV,1MBIT,32DIP
107-000020-0001 3 3 1 1 EA LBL,BLANK,WHITE,1.0X5.0
6739828CE 3 1 1 EA BOARD GTCZ
760-0004-Z 4 DI27,DI43,DI44 3 3 EA SOCKET, IC, 68 PIN LCC- ROHS

385-0001-Z 4 GO2,GO5,GO6 3 3 EA
XTAL 1.84320 MHZ 5PPM@25C 13PF 
ROHS



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
6 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

135-1001-Z 4 R129 1 1 EA
RES THN FLM AX 1kohm 0.5% 25ppm 
0.6W

29524053JP 4 DI2 1 1 EA HC MUX3-DMUX ANA 2C DIP16

135-4751-Z 4
R102,R105,R108,R113,R123,
R124 6 6 EA

RES THN FLM AX 4.75kohm 0.5% 25ppm 
0.6W

29421402EM 4
VD10,VD11,VD2,VD3,VD4,VD
5,VD7,VD8,VD9 9 9 EA DSIG 75V 0.2A 4NS DO35

30362377AA 4

C139,C146,C153,C154,C155,
C156,C157,C158,C159,C160,
C45 11 11 EA CAL R5 85C 10UF 50V

29332174DA 4 C62,C63,C64 3 3 EA CX7R R5 22NF 20% 50V
31566695EP 4 DI54,DI55,DI58,DI59 4 4 EA D1/R1 RS485/422 DIP8
29653393EP 4 NA11,NA12,NA16,NA17 4 4 EA CMP2 VIO5MV MS DIP8

29225303ES 4

R169,R171,R173,R176,R177,
R183,R185,R187,R197,R202,
R204,R206,R210,R213,R214,
R219,R223,R225,R227,R230,
R231,R238 22 22 EA RES MF AX 3.32kohm 1% 50ppm 0.5W

29671346EP 4 DI25,DI28,DI29 3 3 EA EEPROM-S MW 1KB 70C DIP8

29225302GF 4
R239,R240,R241,R242,R244,
R245,R247,R248,R500 9 9 EA RES MF AX 475ohm 1% 50ppm 0.5W

29714718ND 4 XM061,XM062 2 2 EA HE12 MALE COUDE 64 POINTS

29225305AA 4 R122,R26,R30,R55 4 4 EA RES MF AX 100kohm 1% 50ppm 0.5W

29225303AA 4

R174,R175,R180,R181,R188,
R189,R194,R195,R196,R201,
R207,R208,R212,R215,R216,
R217,R220,R224,R226,R233,
R234,R236,R39,R40 24 24 EA RES MF AX 1kohm 1% 50ppm 0.5W

31612507EP 4
NA1,NA13,NA14,NA15,NA2,N
A3,NA4 7 7 EA AOP VIO150UV 400V/MV DIP8

29332174AA 4 C56,C67,C68 3 3 EA CX7R R5 10NF 20% 50V

29332174GE 4

C1,C10,C105,C106,C11,C113,
C114,C115,C116,C119,C120,
C148,C149,C150,C151,C35,C
46,C47,C50,C53,C54,C55,C61
,C65,C66,C69,C70,C71,C72,C
73,C74,C75,C76,C77,C78,C79
,C89,C92,C93,C98,C99 41 41 EA CX7R R5 47NF 20% 50V

29439250TE 4
VD12,VD13,VD14,VD15,VD16,
VD17,VD18,VD19 8 8 EA TVS BI 7V5 10% 1K5W DO201

354-16550-Z 4 DI30,DI45,DI46 3 3 EA PERIPH. UART 70C DIP 40

312-0088-Z 4

VP1,VP10,VP11,VP12,VP13,V
P14,VP15,VP16,VP17,VP18,V
P19,VP2,VP20,VP21,VP22,VP
3,VP4,VP5,VP6,VP7,VP8,VP9 22 22 EA

OPTOCPLR LED/XSTR 70V CTR=100% 
DIP6L

385-0004-Z 4 GO1,GO3,GO4 3 3 EA XTAL 12MHZ 50PPM HC49 ROHS
353-0001-Z 4 DI23,DI36,DI39 3 3 EA IC DIG CMOS PAL 22V10 DIP24



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
7 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29332172DA 4 C59,C82,C83,C90,C91 5 5 EA CCOG R5 220PF 10% 50V
29714132FC 4 XM063,XM064 2 2 EA C.IDC M 26 X HE10

29453025TE 4
VT1,VT10,VT2,VT3,VT4,VT5,
VT6,VT7,VT8,VT9 10 10 EA PNP 60V 0.6A TO92

29332173AA 4

C13,C14,C15,C16,C17,C18,C1
9,C20,C25,C26,C27,C28,C29,
C30,C31,C32,C37,C38,C39,C4
0,C41,C42,C43,C44 24 24 EA CX7R R5 1NF 20% 50V

30413002RM 4 VD1,VD6 2 2 EA DRED 600V 1A NGP DO41
29524451JP 4 DI20,DI21 2 2 EA HC MUX-DMUX 8-1 DIP16
29500000AT 4 DI26,DI41,DI42 3 3 EA 32 PINS SUPPORT
29500000LJ 4 DI23,DI36,DI39 3 3 EA SUP CI DIP24L
29524002HP 4 DI33,DI49 2 2 EA HC NOR4 2I DIP14

29524014HP 4
DI3,DI31,DI32,DI5,DI51,DI53,
DI6,DI7,DI8 9 9 EA HC INV6 TRIG DIP14

29524373LP 4 DI16,DI35,DI38 3 3 EA HC LATCHD8 3S DIP20
29524374LP 4 DI10,DI22,DI4 3 3 EA HC FLIPOPD8 3S DIP20
885-0037 4 1 1 EA LABEL PCB BAR CODE ROHS
29524402HP 4 DI12,DI14 2 2 EA HC NOR2 4I DIP14
29524440JP 4 DI15 1 1 EA HC CPT BIN 12B DIP16
29566232JP 4 DI57,DI61 2 2 EA D2/R2 RS232D DIP16
29634273SC 4 NR1 1 1 EA REG-5V 1A TO220
29671101PA 4 DI26,DI41,DI42 3 3 EA EPROM 128K8-150 CDIP32

29714132DC 4 XM065 1 1 EA
CONN IDC 2.54 MALE AU30 10 2X5 THD 
PA

30122320LB 4 X1,X2 2 2 EA JUMPER
30122320LD 4 CX11,XC10 2 2 EA C.1401 M 2X2 Y
30223313FL 4 R70,R76,R90 3 3 EA R MOX 0.25W +/-0.5% 3.92KU
30223313HT 4 R46 1 1 EA R MOX 6K81 +/-0. 5% 0.25W
30223314AS 4 R73,R94,R97 3 3 EA 12,1K 0,5% W25

30223314FL 4
R32,R34,R35,R56,R58,R60,R6
9,R75,R89 9 9 EA 39K2 1 4W 0,5% RESIST.METAL.

30223314GZ 4
R31,R33,R36,R57,R59,R61,R6
8,R74,R88 9 9 EA R MOX 0.25W +/-0.5% 56.1KU

30223314JN 4
R101,R104,R107,R28,R38,R5
2,R71,R72,R92,R93,R95,R96 12 12 EA R MOX 0.25W +/-0.5% 82,5KU

30362377GE 4 C109,C110,C97 3 3 EA CAL R5 85C 47UF 50V

30362378AA 4 C161,C162,C4,C6,C7,C9 6 6 EA CAL R5 85C 100UF 50V
30566406JR 4 DI56,DI60 2 2 EA D3/R3 RS232 DIP16
29524074HP 4 DI1,DI11 2 2 EA HC FLIPOPD2 DIP14
29524086HP 4 DI13 1 1 EA HC OR4 2I EX DIP14

29524125HP 4 DI47,DI48,DI50,DI52,DI9 5 5 EA HC BUF4 NINV 3S DIP14
29524245LP 4 DI17,DI18,DI19 3 3 EA HC DRV8 BUS BI 3S DIP20

29225303BN 4 R147,R178,R190 3 3 EA RES MF AX 1.5kohm 1% 50ppm 0.5W

29225303FL 4 R141,R133,R142 3 3 EA RES MF AX 3.92kohm 1% 50ppm 0.5W

29225304FZ 4 R132,R138,R143 3 3 EA RES MF AX 44.2kohm 1% 50ppm 0.5W

29225305DB 4 R91 1 1 EA RES MF AX 221kohm 1% 50ppm 0.5W

29225305DY 4 R149,R151 2 2 EA RES MF AX 274kohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
8 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29240624AA 4 RG1,RG2,RG3,RG4 4 4 EA RRES SIL10 5X10K0 2%
29321125GE 4 C96 1 1 EA CPM R5 470NF 20% 50V
29321126AA 4 C101,C104,C117,C118 4 4 EA CPM R5 1UF 20% 50V
29332171AA 4 C12,C24,C36 3 3 EA CCOG R5 10PF 10% 50V

29332171DW 4
C100,C102,C107,C108,C111,
C112,C123,C124,C80,C84 10 10 EA CCOG R5 27PF 10% 50V

29332171GE 4 C103,C125,C126 3 3 EA CCOG R5 47PF 10% 50V

29332172AA 4

C121,C122,C127,C128,C129,
C130,C131,C132,C133,C134,
C135,C136,C137,C138,C140,
C141,C142,C143,C144,C145,
C147,C152,C21,C48,C5,C57 26 26 EA CCOG R5 100PF 10% 50V

29332172GE 4
C22,C23,C49,C51,C52,C58,C6
0,C8,C81 9 9 EA CCOG R5 470PF 10% 50V

29332173DA 4 C85,C86,C87 3 3 EA CX7R R5 2.2NF 20% 50V

29225306AA 4

R146,R148,R170,R172,R179,
R182,R184,R186,R191,R192,
R193,R198,R199,R200,R203,
R205,R209,R211,R218,R221,
R222,R228,R229,R232,R235,
R237 26 26 EA RES MF AX 1Mohm 1% 50ppm 0.5W

6739827C0 4 AI1 1 1 EA PCB GTCZ BOARD

360-0132-Z 4 NA10,NA5,NA6,NA7,NA8,NA9 6 6 EA
SPECIAL FUNCT - ANALOG SAMPLE 
AND HOLD 1

359-0207-Z 4 DI27,DI43,DI44 3 3 EA IC MPU 16BIT 5V 20MHZ 68PLCC ROHS
885-3705A 4 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY

21156302 4 XM063,XM064,XM065 6 6 EA
RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

670-0065A 4 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL
360-0144-Z 4 NR2 1 1 EA VOLT REF - ANALOG 5V DIP

135-1502-Z 4 R109 1 1 EA
RES THN FLM AX 15kohm 0.5% 25ppm 
0.6W

135-8251-Z 4 R100,R103,R106 3 3 EA
RES THN FLM AX 8.25kohm 0.5% 25ppm 
0.6W

135-3321-Z 4 R110 1 1 EA
RES THN FLM AX 3.32kohm 0.5% 25ppm 
0.6W

29225302BN 4 R243,R246 2 2 EA RES MF AX 150ohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
9 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29225304AA 4

R1,R10,R11,R111,R112,R115,
R116,R117,R119,R12,R121,R
13,R130,R131,R134,R135,R13
6,R137,R139,R14,R140,R145,
R15,R150,R152,R153,R154,R
155,R157,R16,R160,R162,R16
3,R164,R165,R166,R167,R168
,R17,R18,R19,R2,R20,R21,R2
2,R23,R24,R3,R4,R41,R45,R5,
R6,R62,R63,R66,R67,R7,R77,
R8,R80,R81,R82,R83,R84,R85
,R86,R87,R9,R98,R99 71 71 EA RES MF AX 10kohm 1% 50ppm 0.5W

351-0256-Z 4 DI24,Dl37,Dl40 3 3 EA SRAM 256KBIT 5V 70ns 70C DIP 28

137-0R02-Z 4 R114,R42,R43,R44,R65,R79 6 6 EA SHUNT 0.4W 0R02 AXIAL ROHS

30223315AA 4

R125,R126,R127,R128,R25,R
27,R29,R37,R47,R48,R49,R50
,R51,R53,R54 15 15 EA R 100K 1/4W 0,5%

29524538JP 4 DI34 1 1 EA HC MNST2 RETRIG DIP16
34004967 2 8 1 1 EA PCA MG CRIZ_7000

107-000020-0001 3 3 1 1 EA LBL,BLANK,WHITE,1.0X5.0
6740837 3 1 1 1 EA PCA MG CRIZ-US

34004969 2 5 1 1 EA PCA MG AROZ_7000
107-000020-0001 3 3 1 1 EA LBL,BLANK,WHITE,1.0X5.0

0P2968 3 1 1 EA PCB ASSEMBLY EPS 6740839 AROZ-US
29671256QP 4 DI35 1 1 EA EPROM 32K8-120 CDIP28
29500000LK 4 DI10 1 1 EA SUPPORT - CL DIP 24L- TULIP
30566809TP 4 DI27 1 1 EA MC6809P
30576840QP 4 DI13,DI14 2 2 EA EF6840P
30670264QP 4 DI28 1 1 EA MEMORY NOVRAM 8KX8 - 85 NS
885-3705A 4 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
29524074HP 4 DI15,DI22,DI58,DI70 4 4 EA HC FLIPOPD2 DIP14
29240513ER 4 RG9 1 1 EA RRES SIL10 9X3K30 2%

29240514AA 4
RG10,RG11,RG12,RG13,RG1
4,RG7,RG8 7 7 EA RRES SIL10 9X10K0 2%

29321125GE 4 C107,C49,C76 3 3 EA CPM R5 470NF 20% 50V
29321126AA 4 C14 1 1 EA CPM R5 1UF 20% 50V
29332171AA 4 C93,C94 2 2 EA CCOG R5 10PF 10% 50V

29332172GE 4
C113,C114,C115,C116,C122,
C85 6 6 EA CCOG R5 470PF 10% 50V

29524053JP 4 DI3,DI71 2 2 EA HC MUX3-DMUX ANA 2C DIP16
29430902FB 4 VZ4 1 1 EA DZEN 3V3 0W5 6% DO35

29524032HP 4 DI39,DI62,DI63,DI76,DI79 5 5 EA HC OR4 2I DIP14

135-4751-Z 4
R10,R11,R3,R4,R5,R6,R7,R8,
R9 9 9 EA

RES THN FLM AX 4.75kohm 0.5% 25ppm 
0.6W

29321125DA 4 C31,C52 2 2 EA CPM R5 220NF 20% 50V
29637001EP 4 DI8 1 1 EA REF 10V 3% 25PPM/C DIP8

135-1213-Z 4 R57,R60 2 2 EA
RES THN FLM AX 121kohm 0.5% 25ppm 
0.6W

29430943FK 4 VZ1,VZ2,VZ3,VZ5 4 4 EA DZEN 18V 0W5 6% DO35



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
10 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29321125AA 4
C105,C106,C123,C138,C53,C
84,C89,C90,C92,C97,C98,C99 12 12 EA CPM R5 100NF 20% 50V

29421402EM 4

VD1,VD10,VD11,VD12,VD13,
VD14,VD15,VD16,VD17,VD18,
VD19,VD2,VD20,VD21,VD22,
VD23,VD24,VD25,VD26,VD27,
VD28,VD29,VD3,VD30,VD31,
VD32,VD33,VD34,VD35,VD36,
VD37,VD4,VD5,VD6,VD7,VD8,
VD9 37 37 EA DSIG 75V 0.2A 4NS DO35

29612182EP 4 NA11,NA12 2 2 EA AOP2 VIO6MV IB200PA DIP8

30362378AA 4 C1,C100,C112,C161,C2,C3 6 6 EA CAL R5 85C 100UF 50V

29225304GF 4 R13 1 1 EA RES MF AX 47.5kohm 1% 50ppm 0.5W
29225302DB 4 R125 1 1 EA RES MF AX 221ohm 1% 50ppm 0.5W
29671346EP 4 DI17 1 1 EA EEPROM-S MW 1KB 70C DIP8

29225303ES 4

R100,R102,R104,R106,R107,
R113,R118,R66,R70,R74,R76,
R79,R82,R84,R86,R93,R94,R9
8 18 18 EA RES MF AX 3.32kohm 1% 50ppm 0.5W

30531003JP 4 DI47,DI53 2 2 EA TTLCMOS DAR7 VCE50V DIP16

29225305AA 4 R122,R41,R55,R56,R59,R62 6 6 EA RES MF AX 100kohm 1% 50ppm 0.5W
29714718ND 4 XM021,XM022 2 2 EA HE12 MALE COUDE 64 POINTS

29225303AA 4
R12,R39,R47,R63,R67,R69,R8
7,R89 8 8 EA RES MF AX 1kohm 1% 50ppm 0.5W

29332174AA 4 C124,C158,C72,C91 4 4 EA CX7R R5 10NF 20% 50V

31612507EP 4
NA1,NA2,NA3,NA4,NA5,NA6,
NA7,NA8,NA9 9 9 EA AOP VIO150UV 400V/MV DIP8

29332174GE 4

C101,C102,C103,C108,C109,
C110,C111,C117,C118,C119,
C120,C121,C125,C127,C128,
C129,C130,C131,C133,C134,
C135,C136,C137,C139,C140,
C141,C142,C143,C144,C146,
C147,C148,C149,C15,C150,C
151,C152,C153,C154,C155,C1
56,C157,C159,C16,C160,C162
,C163,C164,C165,C166,C167,
C168,C169,C17,C18,C26,C28,
C29,C30,C32,C33,C39,C4,C40
,C41,C42,C45,C46,C47,C48,C
5,C50,C51,C54,C57,C58,C6,C
60,C61,C62,C63,C64,C65,C68
,C7,C71,C73,C74,C75,C78,C7
9,C80,C81,C82,C83,C86,C87,
C88,C95,C96 100 100 EA CX7R R5 47NF 20% 50V



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
11 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29590803LS 4 DI2 1 1 EA CONVERTISSEUR A/D ADC0803
29332175AA 4 C180,C181 2 2 EA CX7R R5 100NF 20% 50V
29653393EP 4 NA10,NA13,NA14 3 3 EA CMP2 VIO5MV MS DIP8
29500000LS 4 DI27 1 1 EA SUP CI DIL40L TULIP

29225303GF 4 R116,R120,R124,R50 4 4 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

353-0001-Z 4 DI40,DI44,DI45,DI50,DI51 5 5 EA IC DIG CMOS PAL 22V10 DIP24
29500000LM 4 DI13,DI14,DI28 3 3 EA SUP CI DIP28 TULIP
29225304BN 4 R48 1 1 EA RES MF AX 15kohm 1% 50ppm 0.5W

29332172AA 4 C12,C200,C43,C66,C67 5 5 EA CCOG R5 100PF 10% 50V
29332172DA 4 C59 1 1 EA CCOG R5 220PF 10% 50V
29714132FC 4 XM023 1 1 EA C.IDC M 26 X HE10
29332171GE 4 C34 1 1 EA CCOG R5 47PF 10% 50V

29524374LP 4 DI1,DI23,DI32,DI38,DI43,DI5 6 6 EA HC FLIPOPD8 3S DIP20
29332173GE 4 C104 1 1 EA CX7R R5 4.7NF 20% 50V

29332173AA 4

C126,C13,C132,C145,C170,C
19,C20,C21,C22,C23,C24,C25
,C44,C77 14 14 EA CX7R R5 1NF 20% 50V

29524440JP 4 DI66,DI74 2 2 EA HC CPT BIN 12B DIP16
29443014RM 4 VT1 1 1 EA NPN 40V 0.6A TO92
29524451JP 4 DI9 1 1 EA HC MUX-DMUX 8-1 DIP16
690-0200 4 0.005 0.005 KG ADHESIVE HOT MELT 3M 3748Q

29225304DB 4 R45,R46 2 2 EA RES MF AX 22.1kohm 1% 50ppm 0.5W
29225306AA 4 R15 1 1 EA RES MF AX 1Mohm 1% 50ppm 0.5W

29225305ES 4 R68,R88 2 2 EA RES MF AX 332kohm 1% 50ppm 0.5W
385-0003-Z 4 GO1 1 1 EA XTAL 4MHZ 100PPM HC49 ROHS
6739815EA 4 AI1 1 1 EA AROZ PCB

234-8221-Z 4 C55,C56 2 2 EA CAP FILM MKP AX 220nF 1% 160VDC

115-0103-Z 4 RG1,RG2,RG3,RG4,RG5,RG6 6 6 EA RES ARRAY SIP 10kohm 2% 0W

234-4474-Z 4 C69,C70 2 2 EA CAP FILM MKP AX 470nF 1% 160VDC

29225304ES 4

R101,R103,R105,R108,R112,
R119,R14,R49,R65,R71,R73,R
75,R78,R80,R81,R83,R85,R91
,R92,R95,R97,R99 22 22 EA RES MF AX 33.2kohm 1% 50ppm 0.5W

29225303DB 4 R64 1 1 EA RES MF AX 2.21kohm 1% 50ppm 0.5W
29500000AT 4 DI35 1 1 EA 32 PINS SUPPORT
29524000HP 4 DI46,DI48,DI73 3 3 EA HC NAND4 2I DIP14
29524002HP 4 DI21,DI67 2 2 EA HC NOR4 2I DIP14

29524008HP 4
DI37,DI57,DI60,DI64,DI75,DI7
7 6 6 EA HC AND4 2I DIP14

29524014HP 4
DI16,DI25,DI29,DI31,DI4,DI41,
DI42,DI55,DI6,DI80 10 10 EA HC INV6 TRIG DIP14

29524086HP 4 DI12,DI24,DI59 3 3 EA HC OR4 2I EX DIP14



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
12 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29524245LP 4
DI11,DI18,DI19,DI20,DI26,DI3
0,DI33,DI34,DI49,DI52 10 10 EA HC DRV8 BUS BI 3S DIP20

29524402HP 4 DI56 1 1 EA HC NOR2 4I DIP14
29524420HP 4 DI36,DI69 2 2 EA HC NAND2 4I DIP14
29566850NP 4 DI10 1 1 EA EF6850P

29500000LJ 4 DI40,DI44,DI45,DI50,DI51 5 5 EA SUP CI DIP24L
885-3705 4 1 1 EA LABEL ADHESIVE SS/ASSEMBLY

21156302 4 2 2 EA
RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

885-0037 4 1 1 EA LABEL PCB BAR CODE ROHS
885-7015B 4 1 1 EA LABEL MODEL/ SERIAL # ROHS

29225305DB 4 R114,R126,R16,R40 4 4 EA RES MF AX 221kohm 1% 50ppm 0.5W
605-0001 4 0.5 0.5 EA PCB JUMPER FOR GALAXY

615-0001 4 0.05 0.05 EA SOLID CONDUCTOR TO HOLD THE CAP

135-1502-Z 4 R51,R53 2 2 EA
RES THN FLM AX 15kohm 0.5% 25ppm 
0.6W

135-8251-Z 4 R43 1 1 EA
RES THN FLM AX 8.25kohm 0.5% 25ppm 
0.6W

135-3321-Z 4 R34,R77,R90 3 3 EA
RES THN FLM AX 3.32kohm 0.5% 25ppm 
0.6W

29225304AA 4

R111,R115,R117,R121,R123,
R127,R200,R35,R36,R37,R38,
R72,R96 13 13 EA RES MF AX 10kohm 1% 50ppm 0.5W

6702135D 4 ET1 1 1 EA ADHESIVE LABEL SS/ASSEMBLY

29225305AS 4 R42 1 1 EA RES MF AX 121kohm 1% 50ppm 0.5W
137-0R02-Z 4 R110 1 1 EA SHUNT 0.4W 0R02 AXIAL ROHS
30223314AA 4 R33,R34 2 2 EA R 10K 1/4W 0,5%

30223315AA 4
R1,R17,R18,R19,R2,R20,R58,
R61 8 8 EA R 100K 1/4W 0,5%

30223315GF 4
R21,R22,R23,R24,R25,R26,R2
7,R28,R29,R30,R31,R32 12 12 EA R 475K 1/4W 0,5%

30223314DB 4 R52,R54 2 2 EA R 22K1 1/4W 0,5%
29524538JP 4 DI7 1 1 EA HC MNST2 RETRIG DIP16
885-5838-001 4 5 5 EA LABEL FOR OTP_PI 0.50 X 0.250 IN
72-132419-07 2 10 1 1 EA CARD CAGE MOD ASSY
003-000003-0483 3 2 8 8 EA RES MF 95.3 1/2W 350V 1%
0M-7213241907A00 3 1 1 1 EA CARD CAGE MOD ASSY
6739196F 4 1 1 EA SHIELD ALEZ GALAXY

6739251 4 4 4 EA ENT M4 M4 H66 GALAXY

3400578000 4 1 1 EA
BOARDS CAGE KIT IGBTEUROPAC PRO 
6U 63F

5103190100 4 1 1 EA BOARD CAGE INSULATING BAR OND
0P2970 4 1 1 EA PCB ASSEMBLY EPS 6739904 ALEZ

6739853 5 T1 1 1 EA T1 1/20 TRANSFORMER

29225300AA 5

R1,R2,R3,R4,R46,R51,R54,R5
7,R58,R59,R6,R63,R73,R74,R
75,R76,R80,R81,R82,R83 20 20 EA RES MF AX 1ohm 1% 50ppm 0.5W

29225302HT 5 R22 1 1 EA RES MF AX 681ohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
13 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29225303HT 5 R23,R26 2 2 EA RES MF AX 6.81kohm 1% 50ppm 0.5W

29225304DY 5 R117 1 1 EA RES MF AX 27.4kohm 1% 50ppm 0.5W
29229310GE 5 R61 1 1 EA RES MF AX 4.7ohm 5% 300ppm 2W
29253011GH 5 V1,V2,V3,V4 4 4 EA VAR (VOLT-AMPERE)
30463001SA 5 VT15 1 1 EA MOSP 45V 0,17A 14R TO92
30463001TE 5 VT16,VT18,VT19,VT2 4 4 EA MOSN 60V 0.3A 5R TO92
29430915FB 5 VZ1,VZ3,VZ4 3 3 EA DZEN 8V2 0W5 6% DO35
29430925FD 5 VZ10,VZ2,VZ5,VZ6 4 4 EA DZEN 10V 0W5 6% DO35
29430933FE 5 VZ16 1 1 EA DZEN 12V 0W5 6% DO35
29430939FH 5 VZ13 1 1 EA DZEN 15V 0W5 6% DO35

30631431BP 5

NR10,NR11,NR12,NR13,NR14
,NR15,NR3,NR4,NR5,NR6,NR
7 11 11 EA REF 2.5-36V 2.2% TO92

30324044DA 5 C16,C17,C5,C6 4 4 EA CAP Y2 MKT RDL 22nF 20% 999VDC

30361923AA 5

C1,C26,C27,C28,C32,C34,C35
,C36,C37,C38,C39,C4,C40,C4
3,C47,C48,C53,C54,C60,C9 20 20 EA CAL R7.6 85C 1000UF 35V

29225301GF 5 R109,R17,R65,R68 4 4 EA RES MF AX 47.5OHM 1% 50PPM 0.5W

30223313AA 5
R123,R124,R130,R136,R21,R
40,R42,R44,R97 9 9 EA R 1K 1/4W 0.5%

30223313BN 5 R103,R132,R36 3 3 EA 1K5 1 4W 0,5% RESIST
30223313CG 5 R15,R16,R39 3 3 EA 1K82 1 4W 0,5% RESIST.METAL.
30223313HT 5 R48 1 1 EA R MOX 6K81 +/-0. 5% 0.25W

420-0507-Z 5 L6 1 1 EA
INDUCTOR 82.5UH 10A 
35.4X37.4X23.4MM LF

360-3842-Z 5 NR1,NR2 2 2 EA
IC PWM CONTROLLER UC3842 DIP8 
ROHS

862-0010 5 NR8 1 1 EA RIVSCREW 3.5 X 6.1MM LENGTH
885-0037 5 1 1 EA LABEL PCB BAR CODE ROHS

862-0012 5
VD13,VD15,VD5,VT1,VT12VD
18,VT9 VT10 6 6 EA RIVSCREW 3.5 X 7.1MM LENGTH

862-0009 5 VT11,VT13 2 2 EA RIVSCREW 3.5 X 10.1MM LENGTH
811-0302A 5 VD18,VT10,VT12,VT9 4 4 EA WASHER FLAT M3 DIN433 ROHS
885-3705A 5 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
30223314HT 5 R140,R47 2 2 EA 68,1K 0,5% W25
30223315BN 5 R153 1 1 EA 150K 1 4W 0,5% RESIST.METAL.
30223315DB 5 R101,R104,R107,R155 4 4 EA 221K 1 4W 0,5% RESIST.METAL.

916798 5 1 1 EA RADIATOR
6739843 5 TV1 1 1 EA TRANSFORMER

29524132HP 5 DI3 1 1 EA HC NAND4 2I TRIG DIP14
29837130AA 5 L1 1 1 EA 470UH INDUCTION COIL

30223312AA 5 R37 1 1 EA 0.25W +/-0.5% 100UMETAL RESISITOR
30223312ES 5 R27 1 1 EA 0.25W 0.5% 332U RESISTOR
30223312HT 5 R25,R98 2 2 EA 681U 1 4W 0,5% RESIST
29472047DA 5 VP1,VP2,VP4,VP5 4 4 EA OPTOTRA DIP6
29229310DA 5 R60 1 1 EA RES MF AX 2.2ohm 5% 300ppm 2W
29231100AA 5 R38 1 1 EA RES WIREWOUND 1ohm 5% 3W
29235100ER 5 R29,R30 2 2 EA RES WIREWOUND 3.3ohm 5% 7W
29332173DA 5 C13,C75 2 2 EA CX7R R5 2.2NF 20% 50V

29225305DY 5 R86 1 1 EA RES MF AX 274kohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
14 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

30223314AA 5 R102,R99 2 2 EA R 10K 1/4W 0,5%
30223314AS 5 R151 1 1 EA 12,1K 0,5% W25
30223314FL 5 R133 1 1 EA 39K2 1 4W 0,5% RESIST.METAL.
30223314GF 5 R106,R121,R144,R53 4 4 EA 47,5K 1 4W 0,5 RESIST.METAL.

131-0000030483A00 5 R113,R114,R71,R72 8 8 EA RES MF AX 95.3ohm 1% 150ppm 0.5W

29321126AA 5
C15,C41,C44,C49,C51,C55,C6
6,C68,C71,C73,C78 11 11 EA CPM R5 1UF 20% 50V

29225300DB 5 R5,R70 2 2 EA RES MF AX 2.21ohm 1% 50ppm 0.5W
6739817 5 AI1 1 1 EA ALEZ PCB

132-1000 5 R43,R62 2 2 EA RES WIREWOUND 100ohm 5% 4W

851-0228-Z 5 1,2 2 2 EA HTSK-AL T0220/T0247 BLK 35X50.8MM
341-0141-Z 5 VD15 1 1 EA DIODE _ 200V 15A TO220

29225305AS 5 R160,R77,R78 3 3 EA RES MF AX 121kohm 1% 50ppm 0.5W

29225305DB 5 R125,R163 2 2 EA RES MF AX 221kohm 1% 50ppm 0.5W
30837080EG 5 L3,L4 2 2 EA SELF 3UH 2A 0R09 AXIALE
30837080TE 5 L10,L5,L7,L8,L9 5 5 EA 6MH INDUCTION COIL
31837150AF 5 L2 1 1 EA SELF D' ANTIPARASITAGE
1DDE000160 5 VD23 1 1 EA DRED 200V 1A 35NS DO41
340-0122-Z 5 VD16,VD17 2 2 EA DIODE 0 0V 3A DO201AD
330-0091-Z 5 VD11 1 1 EA DIODE 0 0V 1.5A DO15
202-5331-Z 5 C33,C46 2 2 EA CAP AL SNAP 10 330uF 450V
310-0079-Z 5 VT4,VT5 2 2 EA TRANSISTOR PNP 100V 6A TO220

360-0555-Z 5 DI1,DI2 2 2 EA
SPECIAL FUNCT - ANALOG TMR 10.25V 
0C 70

29714718ND 5 XM012 1 1 EA HE12 MALE COUDE 64 POINTS

135-5621-Z 5 R122,R126,R129,R56 4 4 EA
RES THN FLM AX 5.62kohm 0.5% 25ppm 
0.6W

135-8251-Z 5 R105,R152 2 2 EA
RES THN FLM AX 8.25kohm 0.5% 25ppm 
0.6W

135-3321-Z 5 R141 1 1 EA
RES THN FLM AX 3.32kohm 0.5% 25ppm 
0.6W

29225301AA 5 R10,R11,R110,R66,R7,R9 6 6 EA RES MF AX 10ohm 1% 50ppm 0.5W

31233114GE 5 R64,R92 2 2 EA
RES MTL OXIDE AX 47kohm 5% 400ppm 
4W

29225304AA 5 R128,R138,R156,R157,R158 5 5 EA RES MF AX 10kohm 1% 50ppm 0.5W

29225305GF 5 R164,R84,R91 3 3 EA RES MF AX 475kohm 1% 50ppm 0.5W

29225302AA 5
R111,R112,R14,R165,R32,R3
5,R67,R69 8 8 EA RES MF AX 100ohm 1% 50ppm 0.5W

30123160AF 5
R29,R30,R38,R43,R60,R61,R6
2,R64,R92 18 18 EA ENTRE D=2 H=10

29631543AA 5 NR8,NR9 2 2 EA REG+15V 1A TO220
30453101WJ 5 VT20,VT6 2 2 EA PNP 80V 1A TO126
340-0125-Z 5 VD13,VD5 2 2 EA DIODE 0 45V 16A TO220

851-0261 5 U1,U2,U3,U4 4 4 EA
HT SNK EXTRUDED ALMGSI 0C/W H 
50.8mm

325-1002-Z-003 5 VT11,VT13 2 2 EA MOSFET N 1,000V 2ohm 5A TO247 3

325-0156-Z-001 5 VT1,VT10,VT9 3 3 EA
MOSFET N 100V 0.09ohm 17A TO220AB 
3



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
15 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

310-0026-Z-001 5 VT12 1 1 EA TRANSISTOR NPN 100V 6A TO220

29225303DB 5 R137,R142,R143,R41 4 4 EA RES MF AX 2.21kohm 1% 50ppm 0.5W

29225303GF 5 R18,R20,R24,R31 4 4 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

29225304DB 5 R134 1 1 EA RES MF AX 22.1kohm 1% 50ppm 0.5W

29225306DB 5 R159 1 1 EA RES MF AX 2.21Mohm 1% 50ppm 0.5W
30362378GE 5 C58 1 1 EA CAL R5 85C 470UF 50V
29321125AA 5 C22 1 1 EA CPM R5 100NF 20% 50V
29321125DA 5 C81,C82 2 2 EA CPM R5 220NF 20% 50V

234-7102-Z 5 C23,C25 2 2 EA CAP FILM MKP RDL 1NF 10% 1,600VDC

135-4751-Z 5 R139,R146,R147,R150,R154 5 5 EA
RES THN FLM AX 4.75kohm 0.5% 25ppm 
0.6W

135-3322-Z 5 R148 1 1 EA
RES THN FLM AX 33.2kohm 0.5% 25ppm 
0.6W

135-2743-Z 5 R145 1 1 EA
RES THN FLM AX 274kohm 0.5% 25ppm 
0.6W

29524074HP 5 D14 1 1 EA HC FLIPOPD2 DIP14

29430902FB 5
VZ11,VZ12,VZ15,VZ17,VZ18,
VZ19,VZ20,VZ7,VZ8 9 9 EA DZEN 3V3 0W5 6% DO35

31400000QA 5 2 2 EA DTH TO220 14/W H25.4X35
31434101BN 5 VZ14,VZ9 2 2 EA DZEN 15V 1W3 5% DO41
31415252CQ 5 VD18 1 1 EA DIODE ULTRAFAST 200V 8A TBD
30324043GE 5 C3 1 1 EA CPM R10 Y2 4.7NF 250V
30324056AA 5 C2,C7 2 2 EA CAP X2 MKT RDL 1uF 20% 560VDC

30415113BA 5
VD1,VD2,VD3,VD4,VD6,VD7,
VD8,VD9 8 8 EA DIODE 0 0V 3A DO201AD

29225302DB 5 R12,R28,R45,R55,R8,R93 6 6 EA RES MF AX 221ohm 1% 50ppm 0.5W

29225302GF 5
R118,R127,R131,R33,R49,R5
2,R88,R89,R9,R90,R94,R95 12 12 EA RES MF AX 475ohm 1% 50ppm 0.5W

29225303ES 5 R119,R34,R50 3 3 EA RES MF AX 3.32kohm 1% 50ppm 0.5W
30362378AA 5 C12,C18,C57,C59,C62 5 5 EA CAL R5 85C 100UF 50V
29332174DA 5 C30,C31 2 2 EA CX7R R5 22NF 20% 50V

29225305ES 5 R161,R85 2 2 EA RES MF AX 332kohm 1% 50ppm 0.5W

29225304GF 5 R120 1 1 EA RES MF AX 47.5kohm 1% 50ppm 0.5W
29421402EM 5 VD10,VD22 2 2 EA DSIG 75V 0.2A 4NS DO35
29653393EP 5 NA1,NA2,NA3 3 3 EA CMP2 VIO5MV MS DIP8
30714405BE 5 XM1 1 1 EA C.396 M 10 Y SN DT VR

29225303AA 5
R108,R115,R116,R13,R135,R
162,R19 7 7 EA RES MF AX 1kohm 1% 50ppm 0.5W

29332174AA 5 C10,C76,C79,C8,C80 5 5 EA CX7R R5 10NF 20% 50V

29332174GE 5

C11,C19,C21,C29,C42,C45,C5
0,C52,C56,C61,C63,C64,C67,
C69,C70,C72,C74,C77,C83 19 19 EA CX7R R5 47NF 20% 50V

30443102WJ 5 VT21,VT7 2 2 EA NPN 80V 1A TO126
30413002RM 5 VD20,VD21 2 2 EA DRED 600V 1A NGP DO41
29453025TE 5 VT14,VT3,VT8 3 3 EA PNP 60V 0.6A TO92



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
16 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29443014RM 5 VT17 1 1 EA NPN 40V 0.6A TO92
29332173AA 5 C100,C65 2 2 EA CX7R R5 1NF 20% 50V
29332173GE 5 C14,C20,C24 3 3 EA CX7R R5 4.7NF 20% 50V
30223315GF 5 R100,R79,R87 3 3 EA R 475K 1/4W 0,5%
30223314DB 5 R149 1 1 EA R 22K1 1/4W 0,5%
340-0138-Z 5 VD12,VD14,VD19 3 3 EA DIODE 0 600V 4A DO201AD
6739820B1 4 1 1 EA BOARD PRIZ GALAXY MEG

6739819 5 AI1 1 1 EA PRIZ BOARD
885-0037 5 1 1 EA LABEL PCB BAR CODE ROHS
6702135D 5 1 1 EA ADHESIVE LABEL SS/ASSEMBLY
670-0065A 5 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL

715-0677-Z 5

XF012,XF021,XF022,XF031,X
F032,XF041,XF042,XF051,XF
052,XF061,XF062,XF071,XF7
2 13 13 EA DIN41612 - 64 CTS - FEM. STRAIGHT

29714132FA 5
XM121,XM122,XM131,XM141,
XM151 5 5 EA C.IDC M 26 Y HE10

5072391 5 1 1 EA DOUBLE QUALITY LABEL
885-3400838900AC 5 1 1 EA LABEL PCBA

3400585000 4 12 12 EA
SCREW M2.5X10MMFIX BOARD FDP 
CAGE A C

HUA11424 4 6 6 EA SCREW TSC HXL SK ST4.2 X 9.5 C.STL
HUA11407 4 8 8 EA NUT ISO 4032 4 STL 8 ZN5CR3

HUA11403 4 4 4 EA
WASHER SD LK EXT TEETH M4 X 8 X 0.5 
STL

HUA11404 4 4 4 EA
WASHER SD CON SPRG M4 X 10 X 0.9 
STL

0P5589 2 1 1 EA PCA CROZ-US EPS7K 500KVA NIO
0H-0536 3 1 1 EA KIT NIO REWORK PCA CROZ US

140-4751-Z 4 1 1 EA RES MF AX 4.75kohm 0.1% 50ppm 0.25W
235-0473-Z 4 1 1 EA CAP FILM MKT RDL 47nF 5% 63VDC

6740838 3 AI1 1 1 EA PCA MG CROZ-US
6739824DA 2 1 1 EA PCBA SRIZ

885-4039 3 1 1 EA
LABEL JUMPER IDENTIFICATION 
NUMBER

330-0091-Z 3 VD23 1 1 EA DIODE 0 0V 1.5A DO15

29225301DB 3 R122,R123,R128 3 3 EA RES MF AX 22.1ohm 1% 50ppm 0.5W

29524000HP 3 D144,D145,D152,DI1,Dl3 5 5 EA HC NAND4 2I DIP14
30123160AF 3 R96 2 2 EA ENTRE D=2 H=10

29225305GF 3

R147,R158,R173,R174,R175,
R176,R177,R178,R179,R180,
R181,R79,R80 13 13 EA RES MF AX 475kohm 1% 50ppm 0.5W

29225306AA 3

R103,R110,R138,R139,R140,
R148,R153,R154,R155,R161,
R55,R56,R57,R58,R60,R62,R6
7,R83,R84 19 19 EA RES MF AX 1Mohm 1% 50ppm 0.5W

29225302AA 3 R104,R127,R221,R95 4 4 EA RES MF AX 100ohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
17 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29225304AA 3

R1,R10,R114,R115,R116,R11
7,R125,R126,R13,R131,R133,
R134,R135,R14,R141,R15,R1
6,R17,R18,R182,R19,R20,R20
9,R21,R22,R23,R24,R25,R26,
R27,R28,R29,R3,R30,R31,R32
,R33,R34,R35,R36,R37,R38,R
40,R42,R43,R45,R46,R5,R50,
R51,R52,R53,R54,R59,R61,R6
3,R7,R71,R73,R75,R77,R92,R
93,R94 64 64 EA RES MF AX 10kohm 1% 50ppm 0.5W

137-0R02-Z 3 R216,R97,R98 3 3 EA SHUNT 0.4W 0R02 AXIAL ROHS

29524002HP 3 D119,D138,D143,Dl48,Dl56 5 5 EA HC NOR4 2I DIP14

29524014HP 3
DI10,Dl11,Dl12,Dl25,Dl39,Dl50
,Dl51,Dl55,Dl59,Dl6 10 10 EA HC INV6 TRIG DIP14

29332173DA 3 C96 1 1 EA CX7R R5 2.2NF 20% 50V
6739844 3 T1 1 1 EA TRANSFORMER AND REACTOR

29430903FA 3 VZ6 1 1 EA DZEN 4V7 0W5 6% DO35
29430939FH 3 VZ2 1 1 EA DZEN 15V 0W5 6% DO35

29225302ES 3

R166,R167,R168,R169,R170,
R171,R172,R202,R203,R204,
R205,R206,R207,R208 14 14 EA RES MF AX 332ohm 1% 50ppm 0.5W

29225303BN 3

R111,R112,R142,R143,R145,
R152,R157,R184,R186,R188,
R194,R197,R199,R201,R211 16 16 EA RES MF AX 1.5kohm 1% 50ppm 0.5W

29714132DC 3 XM057,XM058 2 2 EA
CONN IDC 2.54 MALE AU30 10 2X5 THD 
PA

29714140AZ 3 X1,X2 2 2 EA CAV F ISO 254 AU
30362376DA 3 C84,C87 2 2 EA CAL R5 85C 2.2UF 50V
30463001TE 3 VT9 1 1 EA MOSN 60V 0.3A 5R TO92
30631431BP 3 NR1,NR2 2 2 EA REF 2.5-36V 2.2% TO92

29524075JP 3
DI13,Dl14,Dl15,Dl20,Dl7,Dl8,Dl
9 7 7 EA 4 TIPS TWICE

29524086HP 3 DI26,Dl36 2 2 EA HC OR4 2I EX DIP14
29524133JP 3 DI53 1 1 EA HC NAND1 13I DIP16
29524154NP 3 DI21,Dl22,Dl30 3 3 EA HC DECO-DMUX 4-16 DIP24
29524420HP 3 DI42 1 1 EA HC NAND2 4I DIP14
29566232JP 3 DI54 1 1 EA D2/R2 RS232D DIP16

29714150HD 3 XM1,XM2 2 2 EA
CONN HSTP 2.54 MALE GOLD 3 1 X 3 
THD PR

30361923AA 3 C109,C155,C156 3 3 EA CAL R7.6 85C 1000UF 35V

29225305DB 3 R124,R219,R88,R89 4 4 EA RES MF AX 221kohm 1% 50ppm 0.5W
29229313AA 3 R96 1 1 EA RES MF AX 1kohm 5% 300ppm 2W
29240514AA 3 RG1,RG2,RG3,RG4 4 4 EA RRES SIL10 9X10K0 2%

29321126AA 3 C130,C162,C164,C71,C97 5 5 EA CPM R5 1UF 20% 50V

30531003JP 3 D149,D157,D158,D160,DI46 5 5 EA TTLCMOS DAR7 VCE50V DIP16
6739823 3 AI1 1 1 EA SRIZ PCB



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
18 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

862-0010 3 1 1 EA RIVSCREW 3.5 X 6.1MM LENGTH
916798 3 VT12 1 1 EA RADIATOR

885-0037 3 1 1 EA LABEL PCB BAR CODE ROHS

21156302 3
XM053,XM054,XM055,XM056,
XM057,XM058 12 12 EA

RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

29225300AA 3 R129,R130,R132,R136,R137 5 5 EA RES MF AX 1ohm 1% 50ppm 0.5W
341-0141-Z 3 VD26,VD27 2 2 EA DIODE _ 200V 15A TO220

360-0555-Z 3 D131,D135,D14,DI29 4 4 EA
SPECIAL FUNCT - ANALOG TMR 10.25V 
0C 70

29225303HT 3 R87,R90 2 2 EA RES MF AX 6.81kohm 1% 50ppm 0.5W

29225303JN 3 R113,R144 2 2 EA RES MF AX 8.25kohm 1% 50ppm 0.5W
29430925FD 3 VZ4 1 1 EA DZEN 10V 0W5 6% DO35
885-3705A 3 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
670-0065A 3 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL

325-0156-Z-001 3 VT12 1 1 EA
MOSFET N 100V 0.09ohm 17A TO220AB 
3

29225303GF 3 R164,R64,R65,R66 4 4 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

29225304ES 3 R151 1 1 EA RES MF AX 33.2kohm 1% 50ppm 0.5W

30362376GE 3
C167,C56,C57,C63,C64,C65,C
66,C81,C86,C95,C99 11 11 EA CAL R5 85C 4.7UF 50V

29524074HP 3 DI40,DI41 2 2 EA HC FLIPOPD2 DIP14
29631273SC 3 NR3 1 1 EA REG+5V 1A TO220
29430902FB 3 VZ1,VZ3,VZ5 3 3 EA DZEN 3V3 0W5 6% DO35

30362377AA 3
C131,C134,C140,C141,C142,
C157,C160 7 7 EA CAL R5 85C 10UF 50V

29225302DB 3
R118,R210,R211,R212,R213,
R222,R223 7 7 EA RES MF AX 221ohm 1% 50ppm 0.5W

29225302GF 3 R218,R220 2 2 EA RES MF AX 475ohm 1% 50ppm 0.5W

29225303ES 3 R149,R160,R162 3 3 EA RES MF AX 3.32kohm 1% 50ppm 0.5W
29332174DA 3 C83 1 1 EA CX7R R5 22NF 20% 50V

29225304GF 3 R68,R69,R70 3 3 EA RES MF AX 47.5kohm 1% 50ppm 0.5W

29421402EM 3

VD1,VD10,VD11,VD12,VD13,
VD14,VD15,VD16,VD17,VD18,
VD19,VD2,VD20,VD21,VD22,
VD24,VD25,VD3,VD30,VD31,
VD32,VD4,VD5,VD6,VD7,VD8,
VD9 27 27 EA DSIG 75V 0.2A 4NS DO35

29653393EP 3 NA1 1 1 EA CMP2 VIO5MV MS DIP8

29225303AA 3

R11,R119,R12,R150,R159,R1
63,R165,R44,R47,R48,R49,R7
2,R74,R76,R78,R86 16 16 EA RES MF AX 1kohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
19 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29225305AA 3

R100,R101,R102,R109,R146,
R156,R183,R185,R187,R189,
R191,R193,R195,R196,R198,
R2,R200,R217,R39,R4,R41,R6
,R8,R81,R82,R85,R9,R91,R99 29 29 EA RES MF AX 100kohm 1% 50ppm 0.5W

29332174AA 3

C102,C103,C106,C108,C120,
C121,C124,C132,C143,C144,
C145,C146,C147,C151,C152,
C153,C154,C166,C300,C74,C
75,C88,C89,C94,C98 25 25 EA CX7R R5 10NF 20% 50V

29332174GE 3

C1,C10,C100,C101,C11,C110,
C111,C112,C113,C118,C119,
C126,C127,C128,C129,C135,
C136,C137,C138,C139,C148,
C149,C150,C158,C159,C161,
C163,C165,C22,C23,C30,C41,
C42,C43,C44,C45,C46,C47,C4
8,C49,C50,C51,C52,C53,C54,
C55,C58,C60,C61,C67,C7,C77
,C78,C79,C8,C80,C82,C85,C9,
C90,C91,C93 62 62 EA CX7R R5 47NF 20% 50V

29332175AA 3

C115,C116,C117,C123,C2,C3,
C31,C4,C40,C5,C6,C68,C69,C
70,C72,C73,C76,C92 18 18 EA CX7R R5 100NF 20% 50V

29714718ND 3 XM051,XM052 2 2 EA HE12 MALE COUDE 64 POINTS
30472047DA 3 VP1,VP2,VP3 3 3 EA OPTOTRA 70V 100% DIP6W
30413002RM 3 VD28,VD29 2 2 EA DRED 600V 1A NGP DO41
29524520JP 3 DI33 1 1 EA HC CPT2 BIN 4B SYN DIP16
29524440JP 3 DI37 1 1 EA HC CPT BIN 12B DIP16

29453025TE 3
VT1,VT11,VT2,VT3,VT4,VT5,
VT6 9 9 EA PNP 60V 0.6A TO92

29443014RM 3 VT10 1 1 EA NPN 40V 0.6A TO92
29332172DA 3 C114 1 1 EA CCOG R5 220PF 10% 50V

29714132FC 3 XM053,XM054,XM055,XM056 4 4 EA C.IDC M 26 X HE10
29332172AA 3 C122,C133 2 2 EA CCOG R5 100PF 10% 50V

29332173AA 3

C104,C107,C12,C13,C14,C15,
C16,C17,C18,C19,C20,C21,C2
4,C25,C26,C27,C28,C29,C32,
C37,C38,C39 29 29 EA CX7R R5 1NF 20% 50V

29524374LP 3 DI17,Dl18,Dl27 3 3 EA HC FLIPOPD8 3S DIP20
29332171DW 3 C125 1 1 EA CCOG R5 27PF 10% 50V

29524538JP 3
DI16,Dl2,Dl23,Dl24,Dl28,Dl32,
Dl34,Dl4,Dl5 9 9 EA HC MNST2 RETRIG DIP16

87-132432-00 1 15 2 2 EA SPARE STATIC SWITCH 800KVA
72-132432-00 2 1 1 2 EA STATIC SWITCH ASSY. 800KVA
85-132463-01 2 2 1 2 EA BOX KIT S.S./ RECT 800KVA
87-132433-00 1 14 3 3 EA SPARE RECTIFIER 800KVA



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
20 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

72-132433-00 2 1 1 3 EA RECTIFIER ASSY. 800KVA
85-132463-01 2 2 1 3 EA BOX KIT S.S./ RECT 800KVA
87-134188-00 1 37 1 1 EA SPARE INPUT FILTER CAP ASSY

04-73253 2 4 2 2 EA SCREW SEMS 10-32X1/2LG PH MS Z
71-134353-10 2 2 1 1 EA COVER AC CAPACITOR
72-134188-00 2 1 1 1 EA INPUT FILTER CAP ASSEMBLY
012-000094-0001 3 11 20 20 EA CAP MPP 15UF 660VAC 6%
04-08053 3 15 25 25 EA BRACKET CAPACITOR MTG
04-32002 3 7 2 2 EA INSULATOR STANDOFF 1
04-32034 3 9 2 2 EA INSULATOR STANDOFF 1-1/4
04-73197 3 46 10 10 EA SCREW 1/4-20X5/8 HH CS G5

04-73200 3 30 25 25 EA SCREW 10-16X1/2 HWH SELF-TAP Z
04-73205 3 34 6 6 EA RIVET 3/16 DIA .138-.236GR ST
04-73535 3 42 4 4 EA SCREW 1/4-20 1/2 HH CS GD5
090-000001-0002 3 17 6 6 EA STDF 1/4X1.25 HEX 6-32 AL
71-134353-00 3 21 1 1 EA SHIELD AC CAPACITOR
71-134363-01 3 3 1 1 EA BUSBAR INPUT CAP
71-134363-02 3 5 1 1 EA BUSBAR INPUT CAP
71-134374-00 3 1 1 1 EA CHASSIS CAP ASSY.
71-134374-01 3 13 1 1 EA COVER BOTTOM CAP
84-134106-00 3 19 1 1 EA HARNESS INP FLTR CAP 15MF X 20
812-0473321NC 3 44 20 20 EA WASHER BELLEVILLE 1/4
811-0473318NC 3 38 8 8 EA WASHER SPLIT LOCK 1/4
811-0473317NC 3 40 18 18 EA WASHER FLAT 1/4 SAE
806-0473584A00 3 32 6 6 EA SCREW SEMS 6 32X3/8LG PH MS Z
812-0473536AG 3 36 4 4 EA SCREW 1/4 20X3/4 HH CS GD5
806-0473304NC 3 18 6 6 EA WASHER EXT TOOTH #6
85-134231-02 2 5 1 1 EA BOX KIT INP/OUT FLTR CAP ASSY

872-0502 2 6 1 1 EA
CORSION/RUST INHIBTOR-ZERUST 
MODEL VC2-2

885-0610A 2 1 1 EA BOX LABEL 4.4 X 8.5 ROHS
87-134189-00 1 38 1 1 EA SPARE OUTPUT FILTER CAP ASSY

04-45131-03 2 6 4 4 EA LABEL SHPG-UP/FRAGILE/KEEP DRY

04-73253 2 4 2 2 EA SCREW SEMS 10-32X1/2LG PH MS Z
71-134192-00 2 7 1 1 EA SERVICE LABEL SHIPPING
07908-0100 3 1 1 1 EA LBL,SHPG,5X7,BLANK
107-000002-0000 3 2 0.02 0.02 RL LBL,INK RIBN,110MMW,BLK,RSN
71-134353-10 2 2 1 1 EA COVER AC CAPACITOR
72-134189-00 2 1 1 1 EA OUPUT FILTER CAP ASSY
058-000003-0001 3 5 1 1 EA TB 2P STD 1/4-20X.56 200A 600V
070-000002-0000 3 34 6 6 EA SCR,MS,PPH,8-32X5/8,ZNC,W/SCW
090-000001-0002 3 17 6 6 EA STDF 1/4X1.25 HEX 6-32 AL
71-134189-00 3 6 1 1 EA LABEL ID OUTPUT FLTR EPS7K
107-000002-0000 4 2 0.07 0.07 RL LBL,INK RIBN,110MMW,BLK,RSN
107-000016-0003 4 1 1 1 EA LBL,BLANK,SLVR,2.75X.375
71-134353-00 3 21 1 1 EA SHIELD AC CAPACITOR
71-134374-00 3 1 1 1 EA CHASSIS CAP ASSY.
84-134107-00 3 19 1 1 EA HARN OUT FLTR CAP STUD MTG
04-08053 3 15 24 24 EA BRACKET CAPACITOR MTG

04-08141 3 7 15 15 EA CAPACITOR 70UF 6% 370VAC AL CAN

04-73200 3 30 24 24 EA SCREW 10-16X1/2 HWH SELF-TAP Z



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
21 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

234-1456 3 9 3 3 EA CAPACITOR 45UF 600VAC W/5MIN TEST
806-0473584A00 3 32 6 6 EA SCREW SEMS 6 32X3/8LG PH MS Z
812-0473409NC 3 40 5 5 EA NUT 1/4 20 HEX
806-0473304NC 3 36 6 6 EA WASHER EXT TOOTH #6
730-0649 3 3 1 1 EA POWER DIST BLOCK 3P 200A
811-0473317NC 3 44 11 11 EA WASHER FLAT 1/4 SAE
812-0473321NC 3 42 22 22 EA WASHER BELLEVILLE 1/4
85-134231-02 2 5 1 1 EA BOX KIT INP/OUT FLTR CAP ASSY

872-0502 2 8 1 1 EA
CORSION/RUST INHIBTOR-ZERUST 
MODEL VC2-2

87-134203-10 1 12 2 2 EA SPARE INVERTER ASSY 500KVA
85-134231-01 2 2 1 2 EA BOX KIT INVERTER ASSY.
72-134203-10 2 1 2 EA INVERTER ASSY 500KVA
057-000030-0000 3 68 1 2 EA STDF 1/4HEX 7/8L 6-32 BRASS
072-000012-0000 3 74 8 16 EA WSHR CONE 6 .312OD ZINC
090-000001-0001 3 54 4 8 EA STDF 5/16X1.0 HX M-F 10-32 AL
71-132836-00 3 13 1 2 EA INSULATOR NOMEX THERMOSTAT
71-134402-10 3 23 1 2 EA BUSPLATE AC INVERTER
71-134403-10 3 27 1 2 EA BUSPLATE POS INVERTER
71-134404-10 3 19 1 2 EA BUSPLATE NEG INVERTER
71-134405-00 3 17 1 2 EA INSULATION, GFBZ
71-134406-10 3 21 1 2 EA INSULATION BUSPLATE
71-134407-10 3 25 1 2 EA INSULATION  BUSPLATE
71-134408-00 3 7 2 4 EA SUPPORT BUS INVERTER
71-134455-00 3 75 1 2 EA BARRIER GFBZ
72-130036-01 3 15 1 2 EA PCA GFBZ
027-000029-0000 4 28 2 4 EA XSTR,MFET,60V,.5A,TO-92
027-000030-0000 4 27 2 4 EA XSTR,MFET,45V,.25A,TO-92
027-000035-0000 4 24 4 8 EA XSTR,MFET,100V,56A,N-CH,TO-220
027-000037-0000 4 23 4 8 EA XSTR,MFET,100V,48A,P-CH,TO-220
046-000001-0000 4 30 2 4 EA TRANS CNTRL 0.3A 19.2V 1:1.2
051-000011-0000 4 33 1 2 EA CONN HDR SHRD 6P RA GLD
051-000012-0000 4 32 1 2 EA CONN HDR SHRD 3P RA GLD
051-001003-0000 4 34 1 2 EA CONN 4 WALL RA 10 P GLD
070-000011-0000 4 37 8 16 EA SCR,MS,P,PH,4-40X1/2,ZNC
12168-0200 4 38 16 32 EA WSHR,FLAT,#4,0.25X.030,STL
412-00008 4 39 8 16 EA NUT KEPS 4-40
62-130036-01 4 1 1 2 EA PCB, GFBZ
84-134131-00 4 36 1 2 EA HARNESS IGBT GATE DRIVE WIRE
002-000010-0000 4 5 4 8 EA RES,MF,10.0,1/4W,300V,1%
002-000010-0096 4 6 4 8 EA RES,MF,100,1/4W,300V,1%
002-000010-0162 4 8 4 8 EA RES,MF,475,1/4W,300V,1%
002-000010-0177 4 7 2 4 EA RES,MF,681,1/4W,300V,1%
002-000010-0193 4 9 8 16 EA RES,MF,1K,1/4W,300V,1%
002-000010-0226 4 10 2 4 EA RES,MF,2.21K,1/4W,300V,1%
002-000010-0235 4 11 1 2 EA RES,MF,2.74K,1/4W,300V,1%
002-000602-0000 4 2 4 8 EA RES MF 1 1/2W 250V 1%
003-000003-0000 4 3 8 16 EA RES,MF,10,1/2W,350V,1%
003-000003-0195 4 4 4 8 EA RES,MF,1.02K,1/2W,350V,1%
012-000001-0000 4 16 4 8 EA CAP,MP,.047UF,100V,10%
012-000009-0000 4 14 6 12 EA CAP,MP,1UF,100V,10%
012-000058-0000 4 15 3 6 EA CAP,MP,.1?F,63VDC,20%
012-000077-0001 4 18 3 6 EA CAP,MP,2200PF,100VDC,5%
014-000004-0000 4 13 4 8 EA CAP,EL,10UF,50V,20%,RD
014-000006-0000 4 17 4 8 EA CAP,EL,22UF,50V,20%,RD
014-000018-0000 4 12 2 4 EA CAP,EL,100?F,50V,20%



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
22 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

020-000034-0000 4 29 2 4 EA IC,OPTOCPLR,25MA,1.7V,8P
020-000036-0000 4 31 1 2 EA IC,PWM,DUALOUT,60V,200MA,16P
025-000001-0000 4 21 2 4 EA DIO SW 75V 150MA DO-35
025-000005-0000 4 22 4 8 EA DIO,RCT,600V,4A,257-03
026-000014-0000 4 20 2 4 EA DIO,ZNR,8.2V,15MA,10%,DO-204AH
026-000015-0000 4 19 4 8 EA DIO,ZNR,18V,7MA,10%,DO-204AH
027-000002-0000 4 26 8 16 EA XSTR PNP -60V 1.5W -.6A TO-92
027-000004-0000 4 25 6 12 EA XSTR,NPN,40V,1MW,1A,TO-92
72-134325-01 3 1 1 2 EA HEATSINK ASSY W / SHROUD
628-00103 4 3 6 12 EA SCREW,PFH,10-32X.5 STL 100DEG
71-134325-01 4 1 1 2 EA HEATSINK INVERTER 500KVA
71-134400-00 4 2 1 2 EA BRACKET MTG INVERTER

84-134108-00 3 11 1 2 EA HARNESS INV THERMO SW EPS7000
012-000106-0000 3 31 2 4 EA CAP 2.0UF 1200VDC 10%
04-76111 3 9 1 2 EA THERMOSTAT 90DEG C NC
057-000029-0000 3 70 1 2 EA STDF 1/4HEX 1/2LONG 6-32 BRASS
803-0473570A00 3 58 6 12 EA SCREW M6X16HH DOUBLE SEMS
811-0473318NC 3 64 2 4 EA WASHER SPLIT LOCK 1/4
811-0473317NC 3 62 4 8 EA WASHER FLAT 1/4 SAE

810-0473582A00 3 56 8 16 EA SCREW SEMS 10 32X3/8LG PH MS Z
122-0000250001A00 3 33 1 2 EA RES OTH 40kohm 5% 25W
320-0000140002A00 3 5 2 4 EA IGBT 1,200V 400A _ 999
821-154550200 3 51 2 4 EA FSTNR CONNECTOR LOCK
810-0000300000A00 3 52 8 16 EA SCR SEMS SL 10 32X5/8 ZNC
806-0473584A00 3 72 2 4 EA SCREW SEMS 6 32X3/8LG PH MS Z
812-0473536AG 3 60 2 4 EA SCREW 1/4 20X3/4 HH CS GD5
812-0473409NC 3 66 2 4 EA NUT 1/4 20 HEX

87-134187-30 1 1 1 EA SPARE DC CAPACITOR ASSY 500KVA

04-45131-03 2 3 4 4 EA LABEL SHPG-UP/FRAGILE/KEEP DRY
71-134911-00 2 4 1 1 EA SERVICE LABEL SHIPPING
07908-0100 3 1 1 1 EA LBL,SHPG,5X7,BLANK
107-000002-0000 3 2 0.02 0.02 RL LBL,INK RIBN,110MMW,BLK,RSN
72-134187-30 2 1 1 1 EA DC CAPACITOR ASSY 500KVA
84-134141-00 3 17 2 2 EA HARNESS RESISTOR DC CAP BANK
000-000027-0000 4 1 1 2 EA RESISTER WW 5K 55W 5%
04-32027 4 4 0.125 0.25 FT TUBING HEATSHRINK 1/8" BLK   %
04-76507 4 2 2 4 EA TERMINAL 18-14 GA #10 RING BL
04-89123 4 3 0.48 0.96 FT WIRE 16AWG WH TFE STR 200C   *
068-000002-0000 3 31 10 10 EA NUT HX M12 19MM NYL
070-000042-0000 3 32 4 4 EA SCR MS PFH 10-32 X .875 100DEG
070-000046-0000 3 35 20 20 EA SCR MS HH P M6X12 SCW ZN

71-134333-30 3 15 1 1 EA BUSPLATE POSITIVE DC CAP BANK
71-134342-00 3 1 1 1 EA BRACKET MTG DC CAP
71-134343-30 3 13 1 1 EA INSUL BUSPLATE DC CAP BANK
71-134344-30 3 9 1 1 EA BUSPLATE MID DC CAP BANK
71-134345-30 3 11 1 1 EA BUSPLATE NEG DC CAP BANK
71-134346-00 3 7 1 1 EA INSULATION CAP ALIGN
71-134347-00 3 3 1 1 EA INSULATION GLASTIC CAP MTG
71-134907-00 3 19 1 1 EA INSULATOR RES MNT DC CAP
71-134908-00 3 21 1 1 EA INSULATOR RES DC CAP BANK
203-0000570000A00 3 10 10 EA CAP AL RDL 10 6800uF 350V
861-0471711A 3 30 8 8 EA RIVET MONO 250 DIA 080 375



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
23 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

812-80000077A 3 37 20 20 EA WASHER PL M6 X 14.377 X 1.22 STL
810-0000000000A00 3 33 9 9 EA NUT 10-32 W/CONE WSHR ZNC
810-80000083A00 3 34 5 5 EA WSHR FLAT #10 0.438 ODX.064

0T-10073 2 5 1 1 EA
LABEL ASSY - DC CAP ASSY SHELF 
LIFE

04-45140 3 1 1 EA LABEL, BLANK, SERIAL 1" X 3"
107-000021-0001 3 0.07 0.07 RL LBL INK RBN,4.33 X1476 ,WAX
885-0610A 2 1 1 EA BOX LABEL 4.4 X 8.5 ROHS

0T-5781 2 1 1 EA
CONCATENATED DATE CODE SHELF 
LIFE LABEL

04-45140 3 1 1 EA LABEL, BLANK, SERIAL 1" X 3"
107-000021-0001 3 0.07 0.07 RL LBL INK RBN,4.33 X1476 ,WAX

871-102208 2 1 1 EA PACKING COMPOSITE BOX 24X14X12

871-56046 2 2.4 2.4 LBS
PACKING FOAM,EXPND,PART-
A,ISOCYANATE,LIQ

871-56047 2 2.4 2.4 LBS
PACKING FOAM,EXPND,PART-B,POLY 
RESIN,LIQ

872-9197 2 0.003 0.00259 EA
BAG ANTI STATIC FILM 
SPEEDYPACKER

0P2977A 1 1 1 EA PCB ASSY EPOZ

340-0064 2
CR14,CR15,CR16,CR5,CR6,C
R7 6 6 EA DIODE 0 600V 1A DO41

724-0284 2 XM555,XM556,XM558,XM559 4 4 EA CONN MT/LOK 3P TIN
310-0025 2 Q1 1 1 EA XSTR PNP 40V .6A TO-92

130-18K2 2 R4 1 1 EA RES MF AX 18.2kohm 1% 100ppm 2W
804-41200008A 2 HS1 1 1 EA NUT KEPS 4-40
861-0382 2 R10,R11 4 4 EA CNTCT PIN .093X.437 NKL

365-0024 2 NR1 1 1 EA V. REG ADJ 1 POS 4.2V 40V 1.2V 37V
202-4100 2 C1,C12 2 2 EA CAP AL RDL 2 10uF 50V

145-4R75 2 R18 1 1 EA RES MTL FLM .6W 1% 4R75 100PPM
131-0102 2 R6 1 1 EA RES MF 1K 1/2W 350V 1%
119-2K00 2 R23 1 1 EA RES MF AX 2kohm 1% 250ppm 1W

130-1K82 2 R5 1 1 EA RES MF AX 1.82kohm 1% 50ppm 0.6W

725-0060 2 XM551,XM552,XM553,XM554 4 4 EA
CONN HSTP 2.54 MALE GOLD 26 2 X 13 
THD P

310-0026 2 Q4,Q5 2 2 EA TRANSISTOR NPN 100V 6A TO220
310-0028 2 Q2,Q3 2 2 EA TRANSISTOR NPN 40V 0.8A TO18
851-0000100000A00 2 HS1 1 1 EA HTSK TO220 VRT BLK ANOD
310-0027 2 Q6 1 1 EA TRANSISTOR PNP 80V 1.5A SOT-32
340-0063 2 CR10,CR11,CR8,CR9 4 4 EA DIO RCT 200V 1.5A DO-41

330-0116 2 CR1,CR12,CR13,CR2,CR3 5 5 EA DIODE 0 75V 0.15A DO35

360-0110 2 U1 1 1 EA
PWM 8V 40V 0.002V 5.1V 200mA 4.9V 5V 
5.1

450-0319 2 K1 1 1 EA RLY FRM2C 12V 2A 8P

335-0071 2 CR4 1 1 EA DIODE ZENER 12V 0% 500mW DO35

221-2471 2 C5 1 1 EA CAP CER C0G RDL 470pF 10% 100VDC
221-8102 2 C8,C9 2 2 EA CAP CER X7R RDL 1nF 10% 50VDC



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
24 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

202-54R7 2 C10,C6 2 2 EA CAP AL RDL 2 4.7uF 50V
202-1682 2 C2,C3,C4 3 3 EA CAP AL RDL 10 6800uF 50V
130-1K00 2 R7,R9 2 2 EA RES MF AX 1kohm 1% 100ppm 0.6W

130-12K1 2 R1,R2,R8 3 3 EA RES MF AX 12.1kohm 1% 100ppm 0.6W
124-0204 2 R11 1 1 EA RES WIREWOUND 200ohm 5% 5W

136-0334 2 R10 1 1 EA RES WIREWOUND 330ohm 5% 3.25W
130-22R1 2 R14,R15 2 2 EA RES MF 22.1 1/4W 300V 1%
130-221R 2 R16,R17 2 2 EA RES MF AX 221ohm 1% 50ppm 0.6W
130-332R 2 R21 1 1 EA RES MF AX 332ohm 1% 50ppm 0.6W

130-15K0 2 R13 1 1 EA RES MF AX 15kohm 1% 100ppm 0.6W

221-0473 2 C11,C7 2 2 EA CAP CER X7R RDL 47nF 10% 100VDC
640-1218A 2 PCB 1 1 EA PCB EPOZ EZ
30714405DE 2 XM557 1 1 EA C.396 M 6 Y SN DT VR
131-0000 2 R12,R24 2 2 EA RES MF AX 0ohm 0% 0ppm 0W
885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS

430-0566-Z 2 TV1 1 1 EA
XFMR PULSE 40KHZ 1:1:1 1A 380V 
ROHS

804-0700000050000A00 2 1 1 EA SCR,MS,P,PH,4-40X3/8,ZNC

130-4K75 2 R19,R22,R3 3 3 EA RES MF AX 4.75kohm 1% 50ppm 0.6W

130-3K92 2 R20 1 1 EA RES MF AX 3.92kohm 1% 50ppm 0.6W
885-3705A 2 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
0P2971 1 1 1 EA PCB ASSEMBLY EPS 6739902 BAIZ

30123160AF 2 R12,R13,R17,R21,R4,R5 12 12 EA ENTRE D=2 H=10
29630653PA 2 NR1 1 1 EA REG+12V 1A TO220

29225303DB 2 R32,R38 2 2 EA RES MF AX 2.21kohm 1% 50ppm 0.5W
21222304 2 2 2 EA ROND PL M4x10x0.8 Zn8Cr3

29430943FK 2 VZ2 1 1 EA DZEN 18V 0W5 6% DO35
29321125AA 2 C2,C4,C5 3 3 EA CPM R5 100NF 20% 50V
HUA12627 2 VT3 1 1 EA WASHER LK WSH M3 X 6 X 0.4 STL
29421901RM 2 VD17 1 1 EA DSCHOT 40V 0,2A DO35
30362377AA 2 C23 1 1 EA CAL R5 85C 10UF 50V
29421402EM 2 VD7,VD8 2 2 EA DSIG 75V 0.2A 4NS DO35

29225304GF 2 R44,R48 2 2 EA RES MF AX 47.5kohm 1% 50ppm 0.5W
29225302DB 2 R1,R14,R18,R22,R6,R9 6 6 EA RES MF AX 221ohm 1% 50ppm 0.5W
29225302GF 2 R28,R41 2 2 EA RES MF AX 475ohm 1% 50ppm 0.5W
29653715AG 2 NC1 1 1 EA CMP VIO7.5MV 0.2US DIP8

29225305AA 2 R45 1 1 EA RES MF AX 100kohm 1% 50ppm 0.5W
29225303AA 2 R29,R33,R43 3 3 EA RES MF AX 1kohm 1% 50ppm 0.5W

29332174AA 2
C10,C100,C14,C16,C19,C20,C
7 7 7 EA CX7R R5 10NF 20% 50V

29332174GE 2 C17,C18 2 2 EA CX7R R5 47NF 20% 50V
HUA11442 2 TV1 2 2 EA SCREW MSC HXG M4 X 8 STL

6739902XX 2 0 0 EA
BAIZ US ST DOCUMENT 
NOMENCLATURE

6739902XZ 2 0 0 EA
BAIZ CARD PRODUCTION DOCUMENT 
NOM



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
25 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29225303GF 2 R46,R50 2 2 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

HUA11403 2 TV1 2 2 EA
WASHER SD LK EXT TEETH M4 X 8 X 0.5 
STL

29453025TE 2 VT1 1 1 EA PNP 60V 0.6A TO92

30413002RM 2
VD10,VD11,VD12,VD13,VD14,
VD15,VD9 7 7 EA DRED 600V 1A NGP DO41

29443014RM 2 VT2 1 1 EA NPN 40V 0.6A TO92
29714132FA 2 XM221 1 1 EA C.IDC M 26 Y HE10
30443102WJ 2 VT3 1 1 EA NPN 80V 1A TO126

6716803C0 2 TV1 1 1 EA LOW POWER TRANSFORMER 550V P1

29225304DB 2 R31,R37,R49 3 3 EA RES MF AX 22.1kohm 1% 50ppm 0.5W
6716263 2 FU1,FU2 4 4 EA 10X38 FUSE SUPPORT

25574755 2 FU1,FU2 2 2 EA FUSE FAST 2A 600VAC 10.3X38MM UL

29225300GF 2
R10,R11,R15,R16,R19,R2,R20
,R23,R24,R3,R7,R8 12 12 EA RES MF AX 4.75ohm 1% 50ppm 0.5W

29225303DY 2 R51 1 1 EA RES MF AX 2.74kohm 1% 50ppm 0.5W

29225303FL 2 R52 1 1 EA RES MF AX 3.92kohm 1% 50ppm 0.5W
29231101DW 2 R12,R21,R4 3 3 EA RES WIREWOUND 27ohm 5% 3W
29321126AA 2 C11,C15 2 2 EA CPM R5 1UF 20% 50V
29331174GE 2 C12,C8 2 2 EA CZ5U R5 47NF 20% 50V
29430903FA 2 VZ1 1 1 EA DZEN 4V7 0W5 6% DO35
29430904FA 2 VZ3 1 1 EA DZEN 5V1 0W5 6% DO35
29524132HP 2 DI1,DI2 2 2 EA HC NAND4 2I TRIG DIP14
29714348EA 2 XM2211 1 1 EA MALE CONNECTOR
30361923AA 2 C21 1 1 EA CAL R7.6 85C 1000UF 35V
6739106DA 2 AI1 1 1 EA PCB BAIZ

330-0093-Z 2
VD1,VD16,VD2,VD3,VD4,VD5,
VD6 7 7 EA DIODE 0 200V 3A AX

29225302AA 2 R53,R54 2 2 EA RES MF AX 100ohm 1% 50ppm 0.5W

29225306DB 2 R35 1 1 EA RES MF AX 2.21Mohm 1% 50ppm 0.5W

234-10221-Z 2 3 3 EA CAP FILM MKP AX 220nF 10% 2,000VDC
885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS
HUA12778 2 VT3 1 1 EA WASHER PL WSH M3 X 6 X 0.5 STL
862-0011 2 NR1 1 1 EA RIVSCREW 3.5 X 5.2MM LENGTH
885-3705A 2 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
670-0065A 2 0.492 0.492 FT TAPE KAPTON 3/4 IN X 36 YD ROLL

724-0113-Z 2 XM2210,XM228,XM229 3 3 EA
CONN PWR 6.35 MALE SN 6 3 X 2 THD 
PR

724-0191-001 2
XM2212,XM222,XM223,XM22
4,XM225,XM226,XM227 7 7 EA

CONN PWR 6.35 MALE SN 3 1 X 3 THD 
PR

21628095 2 VT3 1 1 EA 3X8 CBLX TC METAL NUT
21253103 2 VT3 1 1 EA NUT - M3 STL 8 ZNC

29235101ER 2 R13,R17,R5 3 3 EA RES WIREWOUND 33ohm 5% 7W

29225304AA 2
R27,R30,R34,R36,R42,R47,R5
7 7 7 EA RES MF AX 10kohm 1% 50ppm 0.5W

30833011HD 2 T1,T2,T3 3 3 EA IT314 TRANSFORMER LAYOUT
29332173DA 2 C13,C9 2 2 EA CX7R R5 2.2NF 20% 50V



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
26 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

360-0555-Z 2 DI3 1 1 EA
SPECIAL FUNCT - ANALOG TMR 10.25V 
0C 70

137-0R02-Z 2 R25,R26,R39,R40,R55,R56 6 6 EA SHUNT 0.4W 0R02 AXIAL ROHS

0P2961 1 1 1 EA PCB ASSEMBLY EPS 34004726 AMUZ
30362377GE 2 C13,C14,C28 3 3 EA CAL R5 85C 47UF 50V
760-0004-Z 2 DI3 1 1 EA SOCKET, IC, 68 PIN LCC- ROHS

PD-34004727-AC 2 1 1 EA
PROG DEVICE ASSY AMUZ-US 0P2961 
EPS8000

986-34004727XA-AC 3 1 1 EA CODE FICHIER EXE AMUZ 8000
937-34004727-AC 3 1 1 EA LABEL TEXT FILE 0P2961 AMUZ-US
885-7015B 3 1 1 EA LABEL MODEL/ SERIAL # ROHS
352-0024-Z 3 1 1 EA IC EPROM 1MBIT 128KX8 DIP32
29332172AA 2 C10,C11,C8 3 3 EA CCOG R5 100PF 10% 50V
29321125DA 2 C3,C4,C5,C9 4 4 EA CPM R5 220NF 20% 50V
HUA12627 2 H1 4 4 EA WASHER LK WSH M3 X 6 X 0.4 STL

29225306GF 2 R2 1 1 EA RES MF AX 4.75Mohm 1% 50ppm 0.5W
30362377AA 2 C32 1 1 EA CAL R5 85C 10UF 50V
29421402EM 2 VD1 1 1 EA DSIG 75V 0.2A 4NS DO35
31566695EP 2 DI16 1 1 EA D1/R1 RS485/422 DIP8
HUA11441 2 4 4 EA SCREW MSC HXG M3 X 10 STL

29225304GF 2 R32 1 1 EA RES MF AX 47.5kohm 1% 50ppm 0.5W
29671346EP 2 DI4 1 1 EA EEPROM-S MW 1KB 70C DIP8

29225303ES 2 R36,R38,R41 3 3 EA RES MF AX 3.32kohm 1% 50ppm 0.5W
29225302GF 2 R45,R46,R8 3 3 EA RES MF AX 475ohm 1% 50ppm 0.5W
29524157JP 2 DI8 1 1 EA HC MUX4 2-1 DIP16
30531003JP 2 DI13,DI14,DI15 3 3 EA TTLCMOS DAR7 VCE50V DIP16
29612358EP 2 NA1,NA2 2 2 EA AOP2 VIO7MV 100V/MV DIP8

29225305AA 2 R31,R53,R54,R55 4 4 EA RES MF AX 100kohm 1% 50ppm 0.5W
29225303AA 2 R35,R37,R42 3 3 EA RES MF AX 1kohm 1% 50ppm 0.5W

29332174GE 2

C12,C15,C16,C17,C18,C19,C2
0,C21,C22,C23,C24,C25,C26,
C27,C29,C30,C31,C6 18 18 EA CX7R R5 47NF 20% 50V

29471022FB 2
HE10,HE11,HE12,HE13,HE14,
HE15,HE16,HE9 8 8 EA LED G 3MCD/10MA D3

29671101PA 2 DI9 1 1 EA EPROM 128K8-150 CDIP32
29439250TE 2 VD2,VD3 2 2 EA TVS BI 7V5 10% 1K5W DO201
29524014HP 2 D12,DI18 2 2 EA HC INV6 TRIG DIP14
29524402HP 2 DI17 1 1 EA HC NOR2 4I DIP14

29225303GF 2 R34,R6 2 2 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

375-0044-Z 2 H1 1 1 EA DISPLAY LCD MODULE 2X20 BACKLT
385-0004-Z 2 GO1 1 1 EA XTAL 12MHZ 50PPM HC49 ROHS
353-0001-Z 2 DI5 1 1 EA IC DIG CMOS PAL 22V10 DIP24
690-0005 2 0.024 0.024 LT FLUX, NO CLEAN
29332171DW 2 C1,C2 2 2 EA CCOG R5 27PF 10% 50V
29714132FC 2 XM161 1 1 EA C.IDC M 26 X HE10
29524374LP 2 DI11,DI12,Dl6,Dl7 4 4 EA HC FLIPOPD8 3S DIP20
29524373LP 2 DI1 1 1 EA HC LATCHD8 3S DIP20
29443014RM 2 VT1,VT2,VT3 3 3 EA NPN 40V 0.6A TO92



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
27 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

30472047DA 2 VP1,VP2,VP3 3 3 EA OPTOTRA 70V 100% DIP6W

390-0018-Z 2 HA1 1 1 EA
BUZZER/SIREN BUZZER THROUGH-
HOLE DEVICE

29225306AA 2 R39,R40,R43 3 3 EA RES MF AX 1Mohm 1% 50ppm 0.5W
6719680 2 H1 2 2 EA FLEXIBLE WIRE

6739825C0 2 AI1 1 1 EA AMUZ PCB

359-0207-Z 2 DI3 1 1 EA IC MPU 16BIT 5V 20MHZ 68PLCC ROHS

29225304ES 2 R33 1 1 EA RES MF AX 33.2kohm 1% 50ppm 0.5W
29225302AA 2 R7 1 1 EA RES MF AX 100ohm 1% 50ppm 0.5W

30122320LY 2 H1 1 1 EA
CONN HSTP 2.54 MALE SN 14 2 X 7 THD 
PR

30362376DA 2 C7 1 1 EA CAL R5 85C 2.2UF 50V
HUA12778 2 H1 8 8 EA WASHER PL WSH M3 X 6 X 0.5 STL
HUA11413 2 H1 4 4 EA NUT DIN 439 M3 STL 04 ZN5CR3

29225301GF 2 R49 1 1 EA RES MF AX 47.5OHM 1% 50PPM 0.5W

29225302ES 2

R12,R13,R14,R15,R16,R17,R1
8,R19,R20,R21,R22,R23,R24,
R25,R29,R30 16 16 EA RES MF AX 332ohm 1% 50ppm 0.5W

885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS

21156302 2 XM161 2 2 EA
RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

6739854 2 L1 1 1 EA DC INDUCTION COIL CONVERTER
885-3705A 2 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
29500000AT 2 DI9 1 1 EA 32 PINS SUPPORT
29500000LJ 2 DI5 1 1 EA SUP CI DIP24L

615-0001 2 0.05 0.05 EA SOLID CONDUCTOR TO HOLD THE CAP
351-0256-Z 2 DI10 1 1 EA SRAM 256KBIT 5V 70ns 70C DIP 28
29225302BN 2 R44 1 1 EA RES MF AX 150ohm 1% 50ppm 0.5W

29225304AA 2
R1,R10,R11,R26,R27,R28,R3,
R4,R47,R48,R5,R51 12 12 EA RES MF AX 10kohm 1% 50ppm 0.5W

29225303JN 2 R9 1 1 EA RES MF AX 8.25kohm 1% 50ppm 0.5W

29471022FA 2
HE1,HE2,HE3,HE4,HE5,HE6,
HE7,HE8 8 8 EA LED R 3MCD/10MA D3

6702135D 2 1 1 EA ADHESIVE LABEL SS/ASSEMBLY
803-1333 2 4 4 EA NUT M3
885-5838-001 2 1 1 EA LABEL FOR OTP_PI 0.50 X 0.250 IN
0P2974 1 1 1 EA PCB ASSY EPS 72-130937-00 ICOZ1
6739821C0 2 Al1 1 1 EA ICOZ1 BOARD

6740470 2 1 1 EA ICOZ1 STRAPPING BOARD
885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS
885-3705A 2 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
690-0157 2 0.042 0.042 LT FLUX NO CLEAN VOC-FREE ROHS
885-0000290000A00 2 1 1 EA LBL BLANK WHITE 1 50X 25 UL

21156302 2 XM151 2 2 EA
RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

29123223CA 2 XM152,XM153 2 2 EA BEND CABLE TERMINAL 2.8
29430925FD 2 VZ1 1 1 EA DZEN 10V 0W5 6% DO35
29471033FA 2 HE1 1 1 EA LED R 1MCD/20MA 2X5
29471033FB 2 HE4 1 1 EA LED G 1MCD/20MA 2X5
29471033FC 2 HE2,HE3 2 2 EA LED Y 1MCD/20MA 2X5



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
28 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29714132FC 2 XM151 1 1 EA C.IDC M 26 X HE10

390-0018-Z 2 HA1 1 1 EA
BUZZER/SIREN BUZZER THROUGH-
HOLE DEVICE

670-0065A 2 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL
6740413CA 1 1 1 EA BOARD ALBZ
862-0009 2 VT1,VT2 2 2 EA RIVSCREW 3.5 X 10.1MM LENGTH
340-0122-Z 2 VD1,VD3 2 2 EA DIODE 0 0V 3A DO201AD
330-0091-Z 2 VD5,VD6,VD7,VD8 4 4 EA DIODE 0 0V 1.5A DO15

312-0090-Z 2 VP2 1 1 EA OPTO TTL/TTL 50mA 19% 3.75kV DIP 8

715-0667-Z 2 XM2,XM3,XM4,XM5 4 4 EA
CONN HSTP 2.54 MALE GOLD 6 1 X 6 
THD PA

885-3705A 2 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
132-1000 2 R10,R2 2 2 EA RES WIREWOUND 100ohm 5% 4W
670-0065A 2 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL

851-0228-Z 2 VD9 1 1 EA HTSK-AL T0220/T0247 BLK 35X50.8MM
341-0141-Z 2 VD9 1 1 EA DIODE _ 200V 15A TO220
29225304AA 2 R33,R57,R61,R65 4 4 EA RES MF AX 10kohm 1% 50ppm 0.5W

31233114GE 2 R1,R5 2 2 EA
RES MTL OXIDE AX 47kohm 5% 400ppm 
4W

29225303CG 2 R62 1 1 EA RES MF AX 1.82kohm 1% 50ppm 0.5W

29225305GF 2 R15,R18,R7 3 3 EA RES MF AX 475kohm 1% 50ppm 0.5W
30123160AF 2 R1,R10,R2,R5 8 8 EA ENTRE D=2 H=10
30453101WJ 2 VT5,VT8 2 2 EA PNP 80V 1A TO126
29361503DA 2 C29,C30,C33 3 3 EA CAP AL RDL 7.5 2200uF 35V

29225303DB 2 R41,R53 2 2 EA RES MF AX 2.21kohm 1% 50ppm 0.5W

234-7102-Z 2 C15,C16 2 2 EA CAP FILM MKP RDL 1NF 10% 1,600VDC
325-1002-Z-003 2 VT1,VT2 2 2 EA MOSFET N 1,000V 2ohm 5A TO247 3
29225302AA 2 R22,R25,R26 3 3 EA RES MF AX 100ohm 1% 50ppm 0.5W
29225301AA 2 R20,R21 2 2 EA RES MF AX 10ohm 1% 50ppm 0.5W
31400000QA 2 VT1,VT2 2 2 EA DTH TO220 14/W H25.4X35
31434101BN 2 VZ3,VZ5 2 2 EA DZEN 15V 1W3 5% DO41

29430902FB 2 VZ10,VZ12,VZ4,VZ6,VZ7,VZ8 6 6 EA DZEN 3V3 0W5 6% DO35

862-0001A 2 VD9 1 1 EA RIVSCREW 0.229MMX3.5MM THD ROHS
29421402EM 2 VD2,VD4 2 2 EA DSIG 75V 0.2A 4NS DO35
29471032FB 2 HE1 1 1 EA LED G 1.6MCD/10MA D5
30714405BE 2 XM1 1 1 EA C.396 M 10 Y SN DT VR
29332174DA 2 C19,C26 2 2 EA CX7R R5 22NF 20% 50V
30324055GE 2 C3,C8 2 2 EA CPM R28 X2 470NF 275V
29653393EP 2 NA1,NA2 2 2 EA CMP2 VIO5MV MS DIP8

29225304GF 2 R43 1 1 EA RES MF AX 47.5kohm 1% 50ppm 0.5W

29225305ES 2 R14,R17,R3,R6 4 4 EA RES MF AX 332kohm 1% 50ppm 0.5W

29225303ES 2 R47 1 1 EA RES MF AX 3.32kohm 1% 50ppm 0.5W
29225302GF 2 R45,R46 2 2 EA RES MF AX 475ohm 1% 50ppm 0.5W
30324043GE 2 C27,C4,C5,C6,C7 5 5 EA CPM R10 Y2 4.7NF 250V

29225305AA 2 R50 1 1 EA RES MF AX 100kohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
29 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29225303AA 2
R27,R38,R49,R58,R59,R63,R6
4 7 7 EA RES MF AX 1kohm 1% 50ppm 0.5W

29430933FE 2 VZ9 1 1 EA DZEN 12V 0W5 6% DO35
29430939FH 2 VZ13,VZ2 2 2 EA DZEN 15V 0W5 6% DO35
29472047DA 2 VP1 1 1 EA OPTOTRA DIP6

30324044DA 2 C10,C11,C12,C9 4 4 EA CAP Y2 MKT RDL 22nF 20% 999VDC
30324055AA 2 C1,C2 2 2 EA CPM R15 X2 100NF 275V
30368152DA 2 C13,C14 2 2 EA 220UF 450V 20%
30413013AR 2 VD10 1 1 EA DIODE DSTD 1300V 1A DO41

29225300DB 2 R12 1 1 EA RES MF AX 2.21ohm 1% 50ppm 0.5W
30463001TE 2 VT3,VT4 2 2 EA MOSN 60V 0.3A 5R TO92
30631431BP 2 NR1,NR2,NR3 3 3 EA REF 2.5-36V 2.2% TO92
30837080TE 2 L2 1 1 EA 6MH INDUCTION COIL

29332174GE 2
C17,C18,C20,C22,C24,C25,C2
8,C31,C32 9 9 EA CX7R R5 47NF 20% 50V

29225302BN 2 R36 1 1 EA RES MF AX 150ohm 1% 50ppm 0.5W
29332171GE 2 C23 1 1 EA CCOG R5 47PF 10% 50V
29453025TE 2 VT10 1 1 EA PNP 60V 0.6A TO92
29443014RM 2 VT9 1 1 EA NPN 40V 0.6A TO92
30443102WJ 2 VT6,VT7 2 2 EA NPN 80V 1A TO126

29225303GF 2 R52 1 1 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

29225304DB 2 R48 1 1 EA RES MF AX 22.1kohm 1% 50ppm 0.5W

29225305AS 2 R13,R4,R9 3 3 EA RES MF AX 121kohm 1% 50ppm 0.5W

29225305DB 2 R16,R19,R23,R40,R8 5 5 EA RES MF AX 221kohm 1% 50ppm 0.5W
29332173DA 2 C21 1 1 EA CX7R R5 2.2NF 20% 50V
29400000DB 2 HE1 1 1 EA LED SUPPORT
29430925FD 2 VZ1,VZ11 2 2 EA DZEN 10V 0W5 6% DO35
885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS

29225301ES 2 R28,R29 2 2 EA RES MF AX 33.2ohm 1% 50ppm 0.5W

29225301GF 2 R24,R30,R31,R34,R35,R37 6 6 EA RES MF AX 47.5OHM 1% 50PPM 0.5W
29225302ES 2 R60 1 1 EA RES MF AX 332ohm 1% 50ppm 0.5W
29225300AA 2 R11 1 1 EA RES MF AX 1ohm 1% 50ppm 0.5W

29225303BN 2 R32 1 1 EA RES MF AX 1.5kohm 1% 50ppm 0.5W

29225303DK 2 R54 1 1 EA RES MF AX 2.43kohm 1% 50ppm 0.5W

29225303HT 2 R51 1 1 EA RES MF AX 6.81kohm 1% 50ppm 0.5W

29225303JN 2 R42,R44 2 2 EA RES MF AX 8.25kohm 1% 50ppm 0.5W

29225304CG 2 R56 1 1 EA RES MF AX 18.2kohm 1% 50ppm 0.5W

29225304DY 2 R39,R55 2 2 EA RES MF AX 27.4kohm 1% 50ppm 0.5W
6740412 2 AI1 1 1 EA ALBT PCB
6718726 2 L1 1 1 EA FERRITE 2X2MH
6739853 2 T1 1 1 EA T1 1/20 TRANSFORMER
6740407 2 TV1 1 1 EA IGBT GALAXY ALBZ TRANSFORMER

515-0422076100B00 1 6 6 EA FUSE 1000A 600V



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
30 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

0N-7213238600B01 1 13 1 1 EA BLOWER 115VAC 530CFM W/ SENS
870-7113238614B00 2 1 1 EA COVER 530CFM BLOWER
870-7113238615B00 2 1 1 EA HOUSING INLET 530CFM BLOWER
870-7113238642B00 2 1 1 EA FLAP BLOWER ASSEMBLY
870-7113238658A00 2 1 1 EA HOUSING TOP MICROSWITCH
803-0000370000A00 2 4 4 EA SCR P PH M4X10MM SEMS SS
803-0680000180000 2 2 2 EA NUT M8 JAM SS DIN439
808-0300040000A00 2 4 4 EA SCR P PH #8X3/8 AB ZNC
802-0453012B00 2 4 4 EA NUT 2-56 TRI-LOC ZN
810-0473406NC 2 1 1 EA NUT 10-32 HEX
870-7113238660A00 2 1 1 EA COVERMICROSWICH 530 CFM
821-14028-0201 2 1 1 EA SHAFT COLLAR .25LG,.375OD,NYL
802-0473195 2 1 1 EA SCREW 2-56X1/2 PAN PH MS Z
802-0700000450000 2 2 2 EA SCR 2-56X.652 PPH MS ZNC
811-0473309NC 2 4 4 EA WASHER EXT TOOTH 8
490-0404913A00 2 1 1 EA BLOWER MOTOR EPS2000
234-0000560000A00 2 1 1 EA CAP MPP 8UF 450V 5% 36X58MM

0W5757 2 1 1 EA BLOWER WIRING HARNESS 530 CFM
820-0411001AG 2 7 7 EA WMA CBL TIE CBL PA 6/6 85C
810-41200015A00 2 1 1 EA NUT KEPS 10-32
6739856EA 1 30 1 1 EA BOARD RAUZ

29843501AE 2 L1,L2,L3,L4,L5,L6,L7,L8 8 8 EA EMI/RFI CYLINDRIQUE
30123160AF 2 R3 2 2 EA ENTRE D=2 H=10
29631273SC 2 NR1 1 1 EA REG+5V 1A TO220
30362377AA 2 C2,C3 2 2 EA CAL R5 85C 10UF 50V
30362378AA 2 C1 1 1 EA CAL R5 85C 100UF 50V
29332174DA 2 C13,C8 2 2 EA CX7R R5 22NF 20% 50V
29714132FC 2 XM092,XM093,XM094 3 3 EA C.IDC M 26 X HE10

29332173AA 2 C10,C11,C12,C4,C5,C6,C7,C9 8 8 EA CX7R R5 1NF 20% 50V
30413002RM 2 VD1,VD2 2 2 EA DRED 600V 1A NGP DO41

21156302 2
XM091,XM092,XM093,XM094,
XM095,XM098 12 12 EA

RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

29714132DC 2 XM091,XM095,XM098 3 3 EA
CONN IDC 2.54 MALE AU30 10 2X5 THD 
PA

29725210AR 2 C,D,E,F,G,H,I,J,K,L,M,N,O,P 14 14 EA INVERTER FOR C.I.INCA

31233111AA 2 R3 1 1 EA
RES MTL OXIDE AX 10ohm 5% 400ppm 
4W

862-0011 2 NR1 1 1 EA RIVSCREW 3.5 X 5.2MM LENGTH
885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS
6702135D 2 1 1 EA ADHESIVE LABEL SS/ASSEMBLY
6739855EA 2 AI1 1 1 EA RAUZ BOARD
670-0065A 2 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL

723-0157-Z 2 XM096,XM097 2 2 EA
CONN DSUB 2.76 MALE GOLD 25 1 X 25 
THD P

715-0575-Z 2 XR10,XR11 2 2 EA PTB HDR 5 THD MALE NA 10 1X10 PA

715-0574-Z 2 XR10,XR11 2 2 EA
PTB PLUG 5.08 OTH FMLE SCW 10 1X10 
PA

137-0R02-Z 2 R1,R2 2 2 EA SHUNT 0.4W 0R02 AXIAL ROHS
885-3705A 2 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
6739836EA 1 28 1 1 EA BOARD OBEZ

29843501AE 2 L1,L2,L3,L4,L5,L6,L7,L8,L9 20 20 EA EMI/RFI CYLINDRIQUE



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
31 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

29851134FH 2 KI1,KI2,KI3,KI4,KI5,KI6 6 6 EA REL PCB 5A 2RT 24V AGCDO

29332174DA 2
C1,C10,C11,C2,C3,C4,C5,C6,
C7,C8,C9 11 11 EA CX7R R5 22NF 20% 50V

29332172AA 2
C50,C51,C52,C53,C54,C55,C5
6,C57,C58 9 9 EA CCOG R5 100PF 10% 50V

29714132FC 2 XM451 1 1 EA C.IDC M 26 X HE10

30413002RM 2

VD1,VD10,VD11,VD12,VD13,
VD14,VD15,VD2,VD3,VD4,VD
5,VD6,VD7,VD8,VD9 15 15 EA DRED 600V 1A NGP DO41

30472047DA 2
VP1,VP2,VP3,VP4,VP5,VP6,V
P7,VP8,VP9 9 9 EA OPTOTRA 70V 100% DIP6W

21156302 2 XM 451,XM452 4 4 EA
RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

29225303BN 2

R10,R11,R12,R13,R14,R15,R1
6,R17,R18,R19,R20,R21,R22,
R23,R24,R25,R26,R27 18 18 EA RES MF AX 1.5kohm 1% 50ppm 0.5W

29714132DC 2 XM452 1 1 EA
CONN IDC 2.54 MALE AU30 10 2X5 THD 
PA

885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS

715-0586-Z 2 XR5,XR6,XR7 3 3 EA PTB HDR 5 THD MALE NA 12 1X12 PA

715-0583-Z 2 XR5,XR6,XR7 3 3 EA
PTB PLUG 5.08 OTH FMLE SCW 12 1X12 
PA

6739835EA 2 AI1 1 1 EA OBEZ BOARD
885-3705A 2 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY

715-0575-Z 2 XR8,XR9 2 2 EA PTB HDR 5 THD MALE NA 10 1X10 PA

715-0574-Z 2 XR8,XR9 2 2 EA
PTB PLUG 5.08 OTH FMLE SCW 10 1X10 
PA

29225306AA 2
R50,R51,R52,R53,R54,R55,R5
6,R57,R58 9 9 EA RES MF AX 1Mohm 1% 50ppm 0.5W

6739830FA 1 26 1 1 EA BOARD IBEZ

29843501AE 2
L1,L10,L11,L12,L13,L14,L2,L3,
L4,L5,L6,L7,L8,L9 16 16 EA EMI/RFI CYLINDRIQUE

6739829 2 AI1 1 1 EA IBEZ BOARD
29851134FH 2 KI1,KI2,KI3,KI4,KI5,KI6 6 6 EA REL PCB 5A 2RT 24V AGCDO
29321125AA 2 C4,C5 2 2 EA CPM R5 100NF 20% 50V
29332174DA 2 C14,C15,C7,C8,C9 5 5 EA CX7R R5 22NF 20% 50V
29225302DB 2 R5 1 1 EA RES MF AX 221ohm 1% 50ppm 0.5W
29332174GE 2 C6 1 1 EA CX7R R5 47NF 20% 50V

312-0088-Z 2 VP1,VP2,VP3,VP4 4 4 EA
OPTOCPLR LED/XSTR 70V CTR=100% 
DIP6L

29714132FC 2 XM351 1 1 EA C.IDC M 26 X HE10
29332172AA 2 C10,C11,C12 3 3 EA CCOG R5 100PF 10% 50V

30413002RM 2
VD1,VD2,VD3,VD4,VD5,VD6,
VD7,VD8,VD9 9 9 EA DRED 600V 1A NGP DO41

885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS

21156302 2 XM351 2 2 EA
RIVET EXPANDING RIV PLATE HD 
2.4mm 7.9mm

29225303BN 2 R1,R2,R3,R4,R6,R7 6 6 EA RES MF AX 1.5kohm 1% 50ppm 0.5W
29430958FX 2 VZ1 1 1 EA DZEN 33V 0W5 6% DO35
29225306AA 2 R10,R11,R12 3 3 EA RES MF AX 1Mohm 1% 50ppm 0.5W
6702135D 2 1 1 EA ADHESIVE LABEL SS/ASSEMBLY



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
32 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

715-0586-Z 2 XR1,XR2,XR3,XR4 4 4 EA PTB HDR 5 THD MALE NA 12 1X12 PA
670-0065A 2 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL

715-0583-Z 2 XR1,XR2,XR3,XR4 4 4 EA
PTB PLUG 5.08 OTH FMLE SCW 12 1X12 
PA

885-3705A 2 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
6739109C0 1 23 1 1 EA BOARD TREZ

30123160AF 2
R1,R14,R2,R3,R31,R32,R4,R4
1,R46,R47,R48,R5 24 24 EA ENTRE D=2 H=10

29430943FK 2 VZ1,VZ2,VZ3,VZ4,VZ5,VZ6 6 6 EA DZEN 18V 0W5 6% DO35

29321125AA 2 C12,C13,C14,C15,C7,C8 6 6 EA CPM R5 100NF 20% 50V

29421402EM 2
VD10,VD11,VD12,VD7,VD8,V
D9 6 6 EA DSIG 75V 0.2A 4NS DO35

29225302DB 2 R13,R18,R22,R26,R30,R9 6 6 EA RES MF AX 221ohm 1% 50ppm 0.5W

29225303AA 2 R36,R40,R45,R52,R55,R60 6 6 EA RES MF AX 1kohm 1% 50ppm 0.5W

29225303GF 2 R34,R38,R43,R50,R54,R58 6 6 EA RES MF AX 4.75kohm 1% 50ppm 0.5W

29332172DA 2 C10,C16,C17,C18,C19,C9 6 6 EA CCOG R5 220PF 10% 50V

29453025TE 2 VT1,VT11,VT3,VT5,VT7,VT9 6 6 EA PNP 60V 0.6A TO92
29714132FA 2 XM241 1 1 EA C.IDC M 26 Y HE10

30443102WJ 2 VT10,VT12,VT2,VT4,VT6,VT8 6 6 EA NPN 80V 1A TO126

29225302AA 2 R35,R39,R44,R51,R56,R59 6 6 EA RES MF AX 100ohm 1% 50ppm 0.5W

29225300GF 2
R11,R12,R16,R17,R20,R21,R2
4,R25,R28,R29,R7,R8 12 12 EA RES MF AX 4.75ohm 1% 50ppm 0.5W

29225303BN 2 R33,R37,R42,R49,R53,R57 6 6 EA RES MF AX 1.5kohm 1% 50ppm 0.5W

29231101GY 2 R31,R32,R41,R46,R47,R48 6 6 EA RES WIREWOUND 56ohm 5% 3W
29327885DA 2 C1,C2,C3,C4,C5,C6 6 6 EA 1500 VDC 0 22 MF +/-20 %
29331174GE 2 C11,C21,C22 3 3 EA CZ5U R5 47NF 20% 50V
29714348EA 2 XM2411 1 1 EA MALE CONNECTOR
30361923AA 2 C20 1 1 EA CAL R7.6 85C 1000UF 35V
30833011HD 2 T1,T2,T3,T4,T5,T6 6 6 EA IT314 TRANSFORMER LAYOUT
885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS
6718588C 2 L1,L2,L3 3 3 EA NDUCTOR, 0.5MH - 0.1A - 24V
6739108C0 2 AI1 1 1 EA TREZ BOARD

330-0093-Z 2 VD1,VD2,VD3,VD4,VD5,VD6 6 6 EA DIODE 0 200V 3A AX
885-3705A 2 ET1 1 1 EA LABEL ADHESIVE SS/ASSEMBLY
670-0065A 2 0.016 0.0164 FT TAPE KAPTON 3/4 IN X 36 YD ROLL

724-0113-Z 2 XM242,XM243,XM244 3 3 EA
CONN PWR 6.35 MALE SN 6 3 X 2 THD 
PR

724-0191-001 2
XM2410,XM245,XM246,XM24
7,XM248,XM249 6 6 EA

CONN PWR 6.35 MALE SN 3 1 X 3 THD 
PR

29235101ER 2 R1,R14,R2,R3,R4,R5 6 6 EA RES WIREWOUND 33ohm 5% 7W

29225304AA 2 R10,R15,R19,R23,R27,R6 6 6 EA RES MF AX 10kohm 1% 50ppm 0.5W



The City of Winnipeg
RFP No. 1049-2016

Appendix 1
33 of 33

PartType Lev Ref-Des Qty
Extended 
Qty Unit Description

0P5490 1 1 1 EA
PCA APOZ INV ACQUI MULTI-MOD EPS 
8K

30714405DE 2 2 2 EA C.396 M 6 Y SN DT VR

132-4991 2

R10,R11,R12,R13,R14,R15,R1
6,R17,R18,R4,R5,R6,R7,R8,R
9 15 15 EA RES WW 4.99 162V 4W 1%

130-221R 2 R1,R2,R3 3 3 EA RES MF AX 221ohm 1% 50ppm 0.6W

235-3474 2 C4,C5,C6 3 3 EA CAP FILM MKT RDL 470nF 20% 63VDC

221-2103 2 C1,C2,C3 3 3 EA CAP CER X7R RDL 10nF 10% 100VDC
330-0116 2 VD1 1 1 EA DIODE 0 75V 0.15A DO35
890-0117 2 XFU1,XFU2,XFU3 6 6 EA CLIP FUSE .406 SPRNG BRNZ
511-0084 2 FU1,FU2,FU3 3 3 EA FS FA 2A 600VAC .41X1.5
430-0559 2 T1,T2,T3 3 3 EA XFMR CTRL 227/6V PCB MT
450-0321 2 KI1,KI2 2 2 EA RLY 2FRMA 24VDC 1.2A 7P
724-0282 2 XM132 1 1 EA CONN MT/LOK 6P TIN

725-0060 2 XM131 1 1 EA
CONN HSTP 2.54 MALE GOLD 26 2 X 13 
THD P

724-0284 2 XM133 1 1 EA CONN MT/LOK 3P TIN

861-0382 2

R10,R11,R12,R13,R14,R15,R1
6,R17,R18,R4,R5,R6,R7,R8,R
9 30 30 EA CNTCT PIN .093X.437 NKL

701-0424 2 8 8 EA SPADE PCB STR .280X.110 TIN
640-1217 2 PCB 1 1 EA PCB APOZ
6718596A1 2 2,L1,L2,L3 3 3 EA INDUCTOR 0.5MH - 1A - 24V

6739861 2 4,TV1,TV2,TV3,TV4,TV5,TV6 6 6 EA TRANSFORMER 6V/12V UL
885-0037 2 1 1 EA LABEL PCB BAR CODE ROHS
30714405BE 2 4 4 EA C.396 M 10 Y SN DT VR


